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 The type of fire hazard which refers to the pos31b111ty of fire occuring and
spreading inside the building itself is

: 0{ Internal hazard

- (B) " External hazard
(C) Personal hazard ‘
(D) Exposure hazard
(E) Answer not known

ApmuuTerg sliglgfer eatGarGu Lpblés Qaren® 2uGasCu urlamd Iibs
: " auans QpEBLUEGLN ————— 6T ADPSSLILGEDS

(A) o ypo Guilui
(B) Qaafuyps CuALT
O swuGufr

- (D) Sppsmany Gufli
(E) oo Qsfluaiioema

2.  The plane of ecliptic is inclined to the plane of equator at an angle of

W 23° 27 - (B) 43° 35
(©) 127°30° . (D) 266° 27

(E) Answer not known

‘éluasmrgglan aﬁ]mrrsmn g,mgﬁu_l Crenguesr aﬂmneargﬁm@ crpjg Gesrrm'rgﬁa)

- FMUBGETETSI? ‘
A) 23°27 - (B) 43°385
(C) 127°30° (D) 266°27

(E) oo Qzfluaidame

3 e CECE/2022
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3. Ramsden type in telescope is deals with
»@( eye — piece i '(B)‘ object - lens
(C) eye—vane | D) object - vane

(E)v Answer not known |

. Qg,nemco(%prfé;ﬁuﬁ]éb FTDEVL G GUENS CTETLIG) GTeanSEH @@éaeﬂg)gj?
A)  seimanE dome  (B) Quiger <inE oo
UG | BT SABES of
(C) seamanmE 556 R0, Qum(per é{@@ga;@
(B) oL Gsfuddome | | |

4.  The focal length of obJectlve 1s: 12 cm and stadla 1nterva1 and length |
between objective and vertical axis of 1nstrument are 4 mm and 8 cm

' respectlvely, the instrument constants are

& 30and 0.2m ~ (B) 100 and0.2m
©) 30and 2m _ : (D) 30 and 20 m
" (E) Answer not known
@elugmo 12 Qs.5 , Qaeredler CuaCst®, SpCsm (&S v@a.‘)L.GUJ 2 drem

ferb 4 WS wpgid  Ceverev smeller QohEss SiFasE QoL ulora
Berd 8 Qa8 YHwapmps Qsran. s@meluder wrdldlsamag »

(A) 30 wpmbd 0.2 5 K (B) 100 wHHID 0.2 18
(C) 30 wpyb 2 (D) 30 wppb 20 18
(B) oL Asfudioa R

CECE022 4 o | p



5.

/Su‘»m of the three angles of spherical triangle
(A) - Is always less than 180°

(B) Isequal to 180°
W Is always more than 180°

.}(D) Is less or more than 180° dependmg on the location of the trlangle

| on spheroid
(E) Answer not known

Gamar Qpé;(%a;rrsmgé,]é'm apermy Comamrmiseten sn(Hisad

| A)  euQumpgid 180° Gt e @mmmrras @@a;@’m

B) 180° 5@ swid |
©C) mu@un@g}m 180° gg el aﬁa;mrra; @@a@m

D) Ga;rrmg,ﬁm ereedl_g&e p&Ganamb SiewpgiaTerg TETLMSL QUGS |
180° g ol Gwpaurs 2D é\@a;mrra; @@a;@m :

(B) e Gpfweildena

A triangle is said to be well-conditioned ‘when its angles should he '

between . o
| m/30° and 120° (B) 30° and 150°

(C) 20°and 150° (D) 15°and 135°
(E) Answer not known ’ S

ag_r,g, @@ _Ga;nmma;@a;@ @ml__uuu_ @oe;(%a;rramrmrrmg,] g,afr@ oLl

v Q;)as@a;rramrm eTeT ) amg@a;asuu@é],mg

(A 30° wpgib 120° (B) 30° wppid ,1"50°

(©)  20° wpgd 150° (D) 15° wpgus 135°
(E) e Qsflweildana . | -

5 .  CECE/2022
' [Turn over



7. The suitable method for (set't‘ing out curve on i'ough ground 1s
(A) Rankine’s method of deflection angles
(B) . Two theodolite method |
W Tacheometric method
(D) Serpentine method

(E) Answer not known

gHps srpeurear Qerp GempliLiTer Pomnseld, eumare Siamwés o LGNS &L
b : .

: (A)  grandler apenpuien e Caramrid
B) @rar® SCuTLe@L WD
(C) GL&AGUIALLAS wop
D) QsiiueteLar e
(E) e Qgfweiicrane

8. The temperature correction and pull correction
(A) always have opposite signs

(B) always have same sign

W may have same sign
- (D) always have positive sign
(E) Answer not known

Qaiufass Anssnd wHpD BUoas Hoss TaLg
Q)  auCurg adArdi GHUGsmers Qamary.BGESD

B) auGurgbd gCr wrdfwrer GHUIGsmers AaTeamBHESLD
(0)  gmCawmer @Gy wrdflwner &OSOamaTs GaTeiyBHEEGLD
D) auGurgid Crirs@duiiemL & Ga;nefmq_@é@m

(E) ofer Qgflueldae

CECE/2022 | R 6 op



9. The line drawn thro.ugh pdints of equalu declinatioh is called
' (A) Agonicline © (B) Magnetic line
(© True meridian'} Msogonic.liné

(E) Answer not known

so  pheuey yereflser aflums  euepyulLULL Gar( eremaroleue)

S@P&aLLOE DS ?
(A) Garams Car | (B) EYS e
(C). o cifeIDIITET ﬁﬁé&(ﬁqms | (D) xGsiCsransCar@

(E) oL Qsfucioema

" 10. The standard size of plane table is
M75 cm x 60 cm ~(B) 70 cm x 60 cm
© 80 cm x 50 cm o (D) 65 cm x 40 cmz

- (E) Answer not known

@@ aueTLIL S enLufelr DiaTa eramLIg| |
(A | 75 Q.8 x 60 Qs..5 B 70 Qs.18 x 60 @s.18 |
(C) 80 Q.8 x 50 Q.08 R . D) 65 Q.18 x 40 Qg8

| (E) eﬁ]mg,@grﬂuaﬂm@m |

P . | 7 . CECE/2022
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11, If a shaft is S1multaneous1y sUbJected to a torque T and bending
moment M, the ratio of the max1mum bending stress to maximum
shearmg stress 1S - '

®» T | - ®

w2 o

(E) Answer not known

al%,am

@ g,am@ @GU @pqg,é,]cu R PNES T LOHHID eueeTd@GHD SHBLILELD M@LD
2 LLRSSLILLIGBESTD, AHEULE aumeaTsED SWssh wHpID Jfsures snsES
- QuuiTés) (S5 DEEG 2 ater NS eTeeuaTay. -

M L T T
- - Ox
- 2M | 2T
© 7 - O

(E) e Osflweldare

12. The central deflection of a 81mply supported beam of length ‘L’ with a

moment M at the end is — — The Flexural rigidity of the
beam is EI. B

(A) MI*/8EI : “f{ML?'/lGEI |

(C) ML?/24EI (D) MI?/48EI

(E) Answer not known -

eraflgmen g,rrrmg@asumm ‘L’ paraperer @S]I_L_‘Q';‘é'jm @r’rk@mmuﬂd) cuener Sl(pLiLjenio
M’Qsweoupn  Qumpg A Lgder pHeled - FHUBD cfl@ésLd
el L gdlan auanaray aﬁlmmuu E'I e QSNeTS.

(A) MI?/8EI ’ | - (B) ML2/16EI \

©) MI?24EI - D) MI?/48ET

(E) . e Gpflueicana - S

" CECE/2022 © 8 o o p



- 13.

A beam AB 1s _fixed‘ at both ends and carries a uniformly distributed

load of intensity .,‘q’ per unit lehgth run over the entire length'. Due to

- some constructional defects, the end B is now reduced to a simple

support. The pércentage increase in bending moment at A is

| V»(A»)' B

"B 75

(5()”

(D) 25

(E) : Answer not kndwh

Bm womsagib ag@muﬁ Gusstiu e AB agb @i &flL1b, DFE PP
vv'ﬁmg(é,\ﬁ)@lv_b, R VG f}mgﬁm@ ‘q’ eremaib Q&@mm__u_i; & Qg,m_r‘r LJIIQ_| SO
F06H0g). Ho 85L.®LD[T60T G@puThaaTed ‘B’ GI'GOT@JLD Q,omarr Graﬂmmg,rrrméﬂu_lrra; L

@mpa;a;uu@éﬂmgj eTefled, @mm ‘Ao é{:ﬂ&iLDlT@LD ﬁ@uqmmuﬁlm &g,aﬁg,m Grarrug,j

@ oo

ik
L © s
@) 25

(E) o9en_ Qg,nﬂu.xéﬁ]d)mw'
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- 14.

@A)

'(C)/ swit (D) SWI°

@

- ©

A simply supported Beam AB 1s loaded w per unlt length as shown in

‘ flgure If E-= young S modulus I= moment of Inertla then the max1mum" ‘

deflection in the beam is

.
v

A'___‘.__é

we W
 48EI - ® 48EI

884EI 384E]

(E) Answer not known

vl_u_g,ﬁw 55rr|_:_uu|_®mcrrqu. w/a{a)@ f,emo gaplp  GlamawrL @_@\ &rrg,rrgm'rv

ShsUILLL et AB. a{é,\m E=uwmn @amasw I— @mmmgﬂ@quﬁmm

: GTGbﬂQ) aﬂl_Lg,Qm <fsuLs s GTQJG)JGITQ.|?

. P : B RS
48E1 _ . ®) 48EI

Wt L W

384E - (D_) 384EI

C® e Gpfudioms
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16.

A solid shaft of dlameter ‘d’ 1s subJected to tw1st1ng moment T such -
that maximum shear stress developed is.‘z’. Now if the dlameter 1s
reduced to‘0.5d, how much torque nust be reduced so that shear stress
remalns the same SR |
@ T2 C® T4
& T8 S (D) T/16
(E) Answer not known B | |
@@ d 3leTay AL Qaram ermgsg,mnq_a) GG gl@uqcmo , T as@jv |
2 Lu@RSsLLELEUTg é{é‘;]&;LH_G byésss@sa; ‘T’ qmu@aﬂmgu &b 0.5d e
G@pssLLBLTaTD, BHIsESSMSe  HNCs é{maﬁ]oﬂ@asas @Q}a;@g,gﬁ]@uqmw :
GTQJQJGTTQ.| @@;);_nasasuuu G@er@m? v . k R
@ T2 N (B) T/4
© 7118 - (D) Tne
y (E) eflenL Gg;nﬂ'uqaﬂd)_msb . | - '
The diambe,t»erkof Ker_nel of a holl‘ow circular section: is
. D+d s | D2+d2 :
A D . B
o DPid? D2+d2'
O o
2D
(E) Answer not known
@@ Qaupmy euiL u@@uﬁ]m 2_6Tars el L LD (Kernel)
~ D+d BN D*+d? |
(A ‘ B
@ B e
D Lo D2+d2
(©) ' D
© S5 © -
. (E) ‘oﬂml_ Qg,rﬂu.xa‘i]@éma)_ | \ -
. CECEm022
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17, The elongatlon in a bar of length l and constant thickness ‘t’ and |
- nlformly taperlng n B at one end to a W1dth b’ at the other end is —

Tens11e force 1s P and modulus of Elastlclty 1s ‘E’.
@ PyBsE)
® 2pyB LB+ E]
© ‘4Pi/(B,+lE) .

RV, g loge,f-

(B- b)+E

(E) Answer not known

G&mma; @g}]&;@@@n@ Qa;rraszsrL_ g,t_am_ ammuuﬁ]m ce){asa)u) I @maﬂuﬂm ‘B’
- opipeande b’ L_eim_uﬁlarr ;SGTLD A wg)g)m g,lq_n.oan ‘t’, LBGTGU)LD @aszsra;m E

@anﬁlm& ‘P’ Q&gug,g,uu@m Qurr@g,] g;L_GU)LU_(j]GUT f,l_eﬂ ETICY |
.(A) ‘Pl/(BbE)' ' | |
- (B) _2Pl/[(B4éb)+‘4E]
| L © -4sz/(B+’E)."
e ‘P‘l . ‘ B ;
D) mloge b

{(E) Qﬁﬂam_ Qg,ﬂu.u@fﬂa)am)

' CECE/2022 L 12 o ST o



18.

19.

If a material has a modulus of elaéticity of 240 GN/m? and a moduhis of
rigidity of 80 GIV/ m? then the poisson’s ratio of the material would be

A) 0.25
& 05

(E) Answer not known

(B) 0.4
D) 0.6

Q% QumpeT 240 GN/m? Qe <L GI'GI)fTGqu_é]lq_QDUJU_]LD womb 80 GN /m?

a) 0.25
© 0.5
(E) ofenr Qgflweerena

G gl flgglgeowuyd  2eLwgns
uragmerev allflsid ereueuenay.

(B) 0.4

D) 0.6

Qs

- DB Qurr@efﬂarr

If £E= Yong"s modulus and I = moment of Inertia. The slope at the free
end of a Cantilever beam of length [ carrying a point load ‘W’ at its free

endis.
L
‘6EI

Wi
6EI

A)

©

B (E) Answef not known

w

2FEI

Wi

D) SEI

- E =arivev an@a)sm I= ﬂmwmgﬁ@quﬁmm erampred sLLHD wyeded ‘W’

yereflseno @mpamed, Serib l 2 e 6 Caemigedeuit aﬁL;g@a) sLLHD Q,ptq_afﬂa)

sfley erebmLigy.
: VVl2
@ 6z
wi
© em

ZE) e QgRweiicvene

WZZ
2E1
Wi

B)
(D)

13

2E]
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, QZO. The rat’io of modulus of rigidity to‘ modulus of elasticity for a poisson’s
ratio of 0.25 would be

A 03 - erla
© o2 Dol
(-E) - Answer not known

 unusteflan e (poisSon5s ratio) 0.25 erafled, aﬂ@mqugmmmuﬁﬂm vmn@a)@h)
‘wppid Apdlipsfluder wrhaaedler 6fl&sn ETELGUETEY ? |
(A 0.3 - ® 04
(C) 0.25 . Dol
(E) e Gsfusdma | .

~ 21. A rod tapers uniformly.from 30 mm to 15mm diameter in a length
| of 1300 mm. If the rod be ‘subjected to an axial load of 6kN, find the
‘extension of the rod.- Take E =2x 10° N/mm?. -

\(), 0.025 mm . .(B) 0.25mm
(©) 2.5mm B | (D) 0.0025 mm
(E) ‘Answer not known '

300 .8 Bers sawLnang 30 .05 el sHmHg 15 B8 e Lors. Syrss
 smuGHDg. sam_Targ 6 &. By e SFaUEEEHE 2 LESSIULLTD SaiTiq e

) BrLsangs sy E =2x10° (If]gl%L.GifT/L&,-LSg &GS,
@A) 0025858 | (B) 0.25 8.8
(C) 2588 - (D) 0.0025 5.8
(E) efleni Az Mwefdene o B

CECER022 | 4 | p



29.

Match the items in Llst I with List IT and select the correct answer us1ng

the codes given below the hsts
List I ' ‘
-(a) Modulus of subgrade reaction
(b) Relative density and strength
(¢) Skin friction and point bearing
resistance '
(d) Elastic constants

@ ®» © @
A 3 4 2 1
@1 3 2 4
C) 2 - 4 1 3

2

&3 4 1

| (E) Answer not known

1.
2.
3.

ListIT. ,
‘Cyclic pile load test
Pressure meter test
Plate load test

Standard penetration test

utgwe I oppo uigwed I e dumeasamer @uﬁL@ &rﬂu_lrrco'r Ll uéliray
- Qews.

UL i W6 I |
(@) <oysser afiiclioer Gamsnd
) oy sisd wopd Hper .

STEIGLD Sl

(d) Serenio el

@ O © @
A 3 4 2

B 1 3 2

1
4
@€ 2 4 1 3
® 3 4 1 2

(B) fer Osfucdame

15

1.
2.
_ (c) Gu)a)uljuq 2. Jmiey mmgum @n@pmm 3

4.

U iguied IT '
&pHél sdgrer ury Cergaan
<isswTal Gengeer

B0 ues Gargeaan 4

sroner penwliL Cersamen

CECE/2022
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23 Which of the followmg seatmg pressure 1s apphed and released before
actual loadmg is commenced

&) 5.0 kN/m? R o (B_)v6.0 EN/m?

~(6T 7.0 kN/m? (D) 8.0 kN/m?

(E) Answer not known | '

Qéreimd Sl SpssHead a8 o GmepLITeT FHOISH OSTLEED @par
LWETLESSULLH Qe ILEADS.

@A) 50 kN/m*> (B) 6.0 kN/m?

© 70 kN/m*> ‘(D) 8.0 EN/m?

(E) oL Asfiucdons | |

- 24. A SPT was conducted in a dense sand depos1t at a depth of 22 m and a
value of 48 was observed for N . The density of the sand was 15 kN /m?

~ Determine the value of N corrected for overburden pressure.

@A 36 (B) 38
© w0 a2

(E) AnsWer not known

@ Hleneowimer sarpeucd Gomsenar 22 S %Qgﬁw R SILITHS DERTED qu.an,Qa)
BLSSULILL G wHpIDd  AHHD N s@ 48 eréim Uy sTETUULL . LOGRTG 6T

Si-isdH 15 kN/m G 2Hs s &ngggﬁm@ & @&UJU_II_JLJI_L. N gen
- wueu Sionallsseb.

@ 36 ®) 38

(C) 40 (D) 42

(E) oL Qsfueidame |

CECE/2022 | 16 v o p



25.

-26.

Vibroﬂota.tion technique is best suited for compacting
(A) Silts

(B) Clays

W@ Coarse sand and gravels

=

(D) - Organic soils

(E) Answer not known

<ifltey  gaw (g)as);_r)u_lrra‘rg,j Qb5 Loaszm)cm é{@p&@wg,,m@' uS]a;sqLo &a;‘r_r)g,
WDWELb. . :

A  auaLd maivr

B) sofwar
O Qufiu gisdrsEs@LW WD LHYID sTMTESD
(D) aflw wair |

(E) ofenr Asflwefldrene

is the primary source of shearing strength in most

~ natural soil.

w9~ Friction E (B) Cohesion
(C) Bearing ‘, - (D) Adhesion

~ (E) - Answer not known

'Qu@murra)rrasr @u.nmmasu.nrrm LD &oT Gt 6bT TG aucllaniod@ psdu cv;_bg,rmmrres |

MleriiGeug 2 SLD.
(A)  2gmiey S (B) ‘@'g}gﬂm&m
©) smegd - (D) gupse

(B) e&feni Qg;rﬂu_laﬁ]d)mg)

17 B CECE/2022
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97,

28.

(BE) oo Osfueidame

‘The area ratio of the Split Spoon Sampler is

@) 1w00% ) 112%

(C) 125% | (D) 150%

(E) Answer not known

_ﬂrﬂé;asé;ehqu Lo BT u)‘rrghﬂ CesMuumaflen LFLiLeTa "aﬁhﬂgm

A) 100% @B 112%
©) 125% e D) 150%
(E) —@S]'a)lf QgsMweilcrenad |

An isobar is

~({a curve connecting points of equal vertical pressure’

(B) a point at which the net pi'essure 1s zero
(C) a curve connecting points of equal total pressure |

(D) acurve connecting points of equal pore water pressure

- (E) Answer not known

gio &@ggés Gan@ eremuig)
(A) swwrer CoisESE WSS aeﬁmasenén @e@anss auTLULIEDL LFeIMETLID
B) @%QL'JL{&;GD‘G!Tv a;i‘.é],’sg,.» (PSS ga@ubrr& 2 erer Yereflude auemyuiLBag)

(C) swwrer QLIEs 2I(PSS SeTa s GaTss UTULILIGLD LF@ETLD

- (D) s Quuuider a@gg 3{617@48;@)@1 @cmmrggj QU TWLILIHLD LIFeuepaTwId ©

-
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- "29.

30.

During the initial stage of compactlon n Sandy Soil, the dry unit Welght

with increase in water content is |
MDecreasing : (B) Increasing |
(C) Not changing much - (D) May increase or decrease -
(E) Answer not known ’ o '
LDERTDLITTaI BTG et i WHGHLCUTg ag@a;n_u_l sleuss  Heooulo, Sl
2lere) 2iflsfsEbCug g damL G 8pg.

(&) opdips (B sfshsdpg
(C) 'cgq‘r_'r,g, am@ﬁl'@@r mngjmé,]d)ma) (D) sidsfNssambd a@mgj GSMDWTLD
(B) oo Ggfudoma ' -
Ina f'lownet, the diséharge is inversely proportional to :
(A) Co-efficient of permeability |

-(B) Head causing the flow

_ (Qf Number of equlpotentlal drops
(D) Number of flow channels
(E) Answer not known
l_irru'_leu aueaelled umuybd BT &@& seood dfgsdd o derg.
A)  eca@mad GemaiDd | |

B umyb Fmssrear 2 Wb
(O sw sisspeTer ﬁrr@@g;a;aﬂm cramenfléans
D) eafyb arnussrder aaramilsmns
(E) el Qsfweloama
19 : - - CECE/2022
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31. The L1qu1d l1m1t and plastic limit of clay are 100% and 25% respect1vely
From Hydrometer analysis it has been found that the clay consists of
- 50% of particles smaller than 0.002 mm. Ident1fy the act1v1ty :

. 'class1f1cat1on '
(A) Normal N mctive'
(C) Inactive o . (D) Both (A) and (B)

~ (E) Answer not known

safl Wementlesr e aubLy wHmb. GeaTmevig s euFby wanGu 100% wogib 25%
<. eanGrr B LGuumLeldiBhg seflwar 0.002 B8 N Adlw 50%

gsaTa@ars Qerarperarg e samLHutiulLgl. FuOUILE uemsLLTL®LS

a;dcrl_,rﬁlu_laqm. |
(A) Queurer | B (B) =ds @&u@-
(©)  Gswapp D) (&) oo (B)

(B) oL Qsluadons

~

32, If Soil particles size is ranging from 2 mm — 4.5 mm, it is calléd as
} b(Average sand ' (B) Medium sand

(C) Fine sand o '. (D) Gravel sand |

(E)- Answer not known - - .

wer gsasaflen eta Geupur® -eTédea 2 mm-& Qmps 4.5 mm ey
QMESD e, DiHS WERT TEUGITY SeMP&&LILIHLD.

(A)  uge (Or) LEHEIL LTET WewTe (B) p®ssr wemwred

(O mer wawred. ) - (D) syevar wawred

(E) olen Qg,aﬂu__laﬁlcblma) |

CECE/2022 - 20 L - P



33.

34.

The process of excavatlng of the soil from the water in harbour to deepen
the water level 1s called as

)
©

Mooring - o »\({)Dredging

" Berthing N (D) Anchoring

(E) Answer not known

sopupssHd  BiolLms &UJT'T‘Q;S‘QS ﬁrﬂc&@pg weanenent Corary - THEHGHD
audipenpuller Guuwir : T : '

A

©)
(E)

2ETGIIH ' ‘ ’ (B) FMieuTyed
Bpisgisd | - (D) pow fgssn
oﬁ]ml_ Qg,rﬂu_loﬂa)mcn v '

Break waters are

A)

(B

©

D1V1s1on of Water into two sectlons
Warning signals for ships.

A structure constructed parallel to the shore to make sh1p comes
closer enough to shore '

@f Massive structure build generally parallel to the short hne to

(B)

protect a shore aréa to keep un disturbed from wave action

Answer not known :

é{mwg_r,g,@uq GreTLIg)

&)
(B)

(©

D)

(E)

By @rmcr@ ugSserrsis AALLSTELD

sLLIEES aésflsms sulsmepomus Qarhliug
SOIHE@ B@amuTEs sULLILGED @@ SLLWLUIL aspsns aTafld sSuLme
S@TES PiabS AeTey SHAD DaTanh aumasHS ‘
a;mga;Ga;m_q‘m@ @aarunss sl Luu@L @@ Cuyewbly agphans ereafld
swolear  s1Es550mHS asmguugﬁ (@FAF oY SI®LWITOED
UTTSgISC s meTer
e Qgflwaldrena
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35. ICAO recommends the pavement width of runway of class A airport as
(A) 18m . (B) 22.5m
© 30m S 4m

(E) Answertnot known

A auiy eflomar ‘r_ﬂmwu_lgﬁm@ @@unmguﬁ]m &nmwgg,mg,ﬁm DFOLD ICAO &flén
urﬂ‘r_r,gumlju_‘ﬂmuq @eusumm G LD.

(A) 18m o (B) 22.5m
(C) 30m . (D) 4m
(E) aﬁ]am_ Qg,rﬂu_laﬁleumm ' o

~36. , The free mean speed on a roadway is found to be 80 kmph Under
stopped condition the average spacmg between Vehlcles is 6.9m, What is

the capamty flow per lane. o :

(A 2700 Vehlcles/hour

> o8 '2900 vehicles/hour

(C) 3000 vehicles/hour

(D) 3200 vehicles/hour

(E) =~ Answer not known

srepaudar @og grmefl Geusd 80 é;]LB/Lomﬂu_lrra; 5rrasuruu®é]mg,j ﬁg}]g,g,uuL_L
Aeoowkle arsamserse @eorCw  symsefl @ml_Q@Jerﬂ 6.9 5. urengulen
Qarererere] LU L anss Siwrallss. ’
(A) 2700 vehicles/hour o

(B) 2900 vehicles/hour

. (C) 3000 vehicles/hour

D) 3200 vehicles/hour

(E) ol Qsfweldame

. CECE/2022 - , | 22 . - b



- 37. Méximum safe spee’d for trans_itioried curve on Brdad Gauge (B.G.) tI\'ack: ‘

is
( V= 44J12—7—
\'B/ V= 027m
'.?('C) V= 0.347, R(C. +Cd)
| (D)' V=,0.65m

(E) Answér not known

B.G. gao_ flow _kmmmmﬁlé\) 2 6T Uuﬁ]m g“aim_mrfmgﬁ,rj)@ 2 &§& @JULbLI Gauad

e T

W VosaETE

®) V =.‘0v.»27 :R»(Ca ¥ Ca)
© v =,‘o.»é47 | R(C,+Cp)
(D) V=065VR—6 '

(E) QémL.anﬂuJéﬁlcbma) o

e 23 ' CECE/2022
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38. The : 1;er}1gth}of traﬁsiﬁion curve. -f()r a hivghvs}ay’ With design‘ épééd of
| 100 Kmph- and ho.riv‘zontal’ curve ,of ‘radiﬁs ZQOm? a’cc’ording to IRC
| emﬁi?ical formula 1s : | |
| (1( 135 m |
®  140 m
© 1350m
- (D) 14.5}m .
(E) A#SWer‘ndt known |
| IIRCk;-ilﬁ]Gis»rb u@r 100  Kmph *a.;s*/mn @;wmuq Caissamsib  20»0 T
%lf‘é‘,@gum;&mgui 20 Q@@;@sm@g@ Gg@mmm @n@pmﬁeﬂaﬁw e
’(A‘) l35L8 . o | .
»(B)’ 140.le :
© 13508
D 1458

(E) ofenr @g,fﬂu..u@%‘uma)

CECE/2022 24 S T



39. According to Indian Roads Congress the minimum des1rab1e W1dth of
‘median for rural highway is

@) 3m L 5 m
© 4m o (D) 6m
(E) Answer not known

@g,ggm FTDEET Guuanmuéﬂmuq oerE Qp@@&nmmuﬂm g,@ul_; &mmgﬁ]m
G@DHsLL s GUIGILTT SO Grszm_lgj

@ 38  ® 55
C) 48 - (De6s
(E) oL Asfuiome |

40. The traffic volume is equal to

(A) traffic speed / traffic density
(Ef i:rafﬁc density x traffic speed
(©) tr-afﬁc density / traffic speed
(D) traffic dens1ty x 2 (traffic speed)
(E) Answer not known

Cﬁurré;@mug,g,j QAsreTaTeaney GraLIg TSH(E&E FLOWD |

(A) Guné;@wqggj Ceusd/CursGeursg LS

B) Curs@arsgs SILisd x Cuns@eursg GQJ’&LD‘:_‘
-(C) Gurré;@a_u}_ggu a;ﬁgﬁ/(ﬁunés@mgggj Geusib

D) - Gurs@ainss SiLisd x 2 (CGusEarss Gasib)

(E) oSl Qsfucidme -

25 B CECE/2022
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41. Regional survey in\?estigates

@A)
B)

©

(E)

Economical condition

i Population

Land values

“Economical, Physical and social condition

Answer not known

tﬂqrr;_’r)‘é,]u_n @IQTQSIUJQSG'M 2pLIGITETS)

A)
(B)
©
D)
(E)

Qumrmerngmy Hlena
wéseT OsTens

;_F,]ai wSHLLser

| Qummerrgny, @ubers WHDID Faps Hlewew

Men QsMwelerene

42. Garden city concept was given by

@)

®

©
D)
(E)

Sir Patrick Abercrombie
Sir Ebenezer Howard
Clarence stein |

Sir Patrick Geddes

Answer not known

| STTLEN &b S eipriflueut

@)

(©)

D)

(E)

& Guifé ESTATET 216 )
&ir Grl_CﬂG@T&r'r G;@)ﬂ'@ﬁ'ﬁ. ,
a?lenrrljmm) GVl e |

gt CuiMé QaQLev

slen Qzfluelerena
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43.

If an ascending grad1ent of 1 in 50 meets a descendlng gradlent of
1 i 100, then deviation angleis :
0.03 - (B) 0.05
(C) 0.06 o (D) 0.30
(E) : Answer not known '

1 in 50 Lo'é,]uqmm @@ qmmm 1 in 100 Log%]uquu_u R @,r_\)asa;gmg,
- FhHlE@wGLTg THUEIL C‘éasrram aleésLb

(A 0.03 , (B) 0.05

44,

(C) o0.06 : (D) ,O,'SO

(E) e&feor Qsflueldeme

In straight line method, Annual depreciation is given by
Original Cost — Potential Value |

A
@ Life in Years

X ( Original Cost — Scrap Value

(©

)

Life in Years

Life in Years _
Original Cost — Scrap Value

D) _ ‘Life in Years:

- Original Cost — Potential Value
(E) Answer not known '
Crir&Cam@ @mmuﬁ]w Qu(mLTHET mé,]utﬁ]m&a;m CTEITLIG)

A wse mﬁuq ~ e.dTaTmips AL

QUMPEMS STeOLD (< er(h)

(B) wiso UL — opfley HENES wHLILY
QUTLPEMS ST (Yer(H)

(C) | aUmpEs ST (<eTH) .

| <isd LAOY ~ phley JIENES LAGY
D)  ampses STELD (<pT®) |

‘ - 9D WL ~ 2 eTeTTiHE WELILY
(E) oo Osfuaiome

21 co CECE/2022
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45. In analysis of rate the quantity of dry mortar for 10 cu.m brick work is

taken as

(A) 9 m3 - | (B) 7 m3
© 5md ) 3 ms

(E) Answer not known

Neavugriumieid 10 s Brir Qemse Caumasss Csmeuliu@n 2 6f

sy @elaunyl aTOSEIE AsmarerILOEDS)

Q) 9md (B) 7m?
- (C) 5m3 | : . (D)‘3m3
(B o sfudome | fR

46. Generally the unit of measurements for thin partition wall is |

(A) Running metre 1{)Sq. m
© “Cu.m _ | , (D) Numbers

(E) Answef not known

Queedlut g@ﬂqé&mmq é{mé;asu uu_lbei)'ru(bﬁgg,m_l‘@m QUIGUTRT DS Bgleund
A QGsmmodces (B) Sq.m
) Cum | ; | D) arananllsamsser |

(E) slo Qgfuciome

CECE/2022 B R o



47. In a detailed estimate the provision for contingehcies is usually
@ 1% Sl 1‘{3 to 5%
© 10% (D) 12 to 15%

(E) Answer not known

Q. aﬁhﬂ@Jrra‘rrk 856661’@56%]]_6&61)’ A @g;q @&waﬁ]mrma;@ésa;ﬁm‘é{maﬂstr elldlgid
A 1% PRASTE (B) 3t05%
© 10% (D) 12to 15%

(E) @Eﬂam_ Qg,fﬂwaﬁlsbebw

. 48. Net:agn“nual income x Yeaf’s_'fpurch‘ase =
(A) Capital cost R o ‘('B(Capitalized valﬁuefi »
© i Totél cost B o " (D) Total income}"' “
(E) Answer not known |
ey QJ@L.W;B@U QU(BHLOTETLD X <y,687(H) Qasrrrm(y)gm‘ =
(A) k@a‘)‘e_f,so‘ré Qeaay - e (B) ngwg,samné,é;]uq HISH
(C) Qursss Q&a)m’ ‘ - (D) Quiss @J@Lorrem@v |
(E) QS]G&)L‘Q'Q')&]UJQQ@QS)GD -
29 | CECE/2022
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49. Pick up the inéorreét vst}at}em:ven‘t fromi the {follo‘w'ingv '
(A) The activity is the tlme conSI‘i_ming part of " project |
| (B) ‘The begipning and 'eng\bf a j;E érecall_ed events
A K The aétivity Whi‘chl Cohéumés maximufn time }is called node |
(D)‘ Logi,callyf and sequentially cbnnectéd activitiés{ and evervi‘tsi form‘ a
netWofk :

- (E) Ahswer not known

| 5;(8@ Qasrr@é;su;m@mmm@asaﬂeb &»rﬂuﬁ]c‘voa_)r/rg; a@m@ ng,frgég»@
. (A) G&u.;si)grr@aﬁér Ql_l_gélm @;BU,EGB)Q é{ﬁ\asmnas@jéﬂﬂ)@l ﬂ -
- '(B’) @wmmuﬁ]m c«g,mu@m Plg@yid Lﬂ;@m&m @@r@,@gnébmuu@a@g
(C) ‘agﬁ;as FCS‘I'BIM'I‘Q'SGZD‘QS | %r@ég@a;ndf@m 'Q&uéb.ukrr@a;mm &Egj : eTehT ) _
| G&n@wﬁu@@mg | | A
(D) “ gﬁg}@ﬁ@@ngmm’fm;ﬂmgqum %@Lb G;vu_lsbur"’r@a;;s'rr“mmgm;@asggmasd'r @@
| | mmw‘gmmuun}eﬂvmg‘ | | ’} |

- (BE) e Qzflwefldenay

 CECE/2022 s . p




50. Match the List I with List II and chonse the correct answer:

- ListI - ListII
(a) Activify 1. Resourceless element.
= (b) Event . 2. Resource rc‘o’nsuming element
(c) Dumm‘y 3. Spare time o
‘ | 4. Instantaneous stage

(d) Float

@ ® © @

A 1 4 3
B) 2 1 4
\62 41
™3 4 1
(E) - Answer nof known

CVC I UR X

utgwe I - ear uciqwe IT ey e, Qurr@g,ﬁ sflwren eflenarw Caiey Gewis

ucgwe I utgwe I
(a) ,Q&U_ld)uvﬂ"@ 1. | aqcrrréjlesm‘,rj)fro 2.y
(b) 'nﬂgstf'pm 2. eueTh&ET Gg,mmﬁxu@fn o mICIy
(c) Gumed 3. ouf k@u’.neu) Grrd
(d)k Bgma | 4. oL ang Heve

@ © @

A1 4 3 2
®2z2 1 4 3
© 2 4 1 3
@3 4 1 2

(E) oo Qsfucidme

p | | 31 | CECE/2022
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51. The t;)tal float for various activities are given: .

Activity :

1-2.

2-3

3-4

4-5 |

Total float :

3

5

6

The most critical activity is

~
®
(©
o
(E)

Answer not known

Qs Bigmer §Cp Qeudurhsalar Qar@asliu Herarg

Q&uﬁe’vun@ :

1-2

2-3

3-4|4-5

Qs Wgamau :

3

5

6 .

4

- Hlseyb @)ésL L e Q&u.néoufr@ T8I ?

(A)
B)
©
K

)

CECE/2022

allen Qzflwalcrena
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52 For comforfable liﬁﬂg cdnditions, 1';he ventilaf‘ibn system,needs
1. ~ Rate of aif supply and air ﬁovemeﬁt
2. Temperature of air |
3. Humidity of air

, " Which of the following is corréct?

(A land2
'(B) 2and3
(C)’ “land 3

" % 1,2and 3

(E) © Answer not known

wefls aurpsas asdsstar (comfort) snpCor L siewlILESTS GngJD.U@QJQ] o

1. s aprstu@b efdsn | - - R - -

2. snpfler Aauiufena
3. smpdler wﬁuug,m
el ‘GIﬂUJITGﬂ'g]" o
A 12

®) 2 wppd 3 |

| ‘(C) blwfoQJLb"3
©) 1,2u0pp03
(E) | QS]GD,I_- Qg,rﬂvu_leﬁ]dima)

- . 88 . CECE/2022
L ' ' ' “TTurn over



53. In any shape of column construction the bond Wthh can be used 1S
"~ (A) _English Bond or Single Flemish Bond
English Bond or Double Flemish bond
(O) English Bond or Herring Bone and '
(D) English bond or Zig zag bond
B) Answer not known |
ThS &@QJ &mmuq g,nama; (column) 25 @@pg,ngz]m @pg IS\GDGMTLIL{BSQDGITLJ
LweTU(HiSSeD.
@A) %nzués]co Geertii S0z @ S@Cerlay Genewtiy
(B gude ﬂmwﬁuq as’ua)gu B ~9Ceamdey NenemriiL
C)  grude Qeeariy éqa)a)gj Qanif Gurrm QGenemriiy -
D) yrdeo Geewiiy SDDF| CS&rramra)Lorrmra) l_cﬂanmruq

(E) - efei Ggfwelleene

54. The irregular triangular portlon of the arcade formed between the two
arches is called as : -

(A) Haunch
Spandril

(C) Import _

(D) King post

(E) Answer not known‘ _
@@ aumare s @ERoL Cu o mamssiul L iCaiger (arcade) ErHo @a;CSa;rrsmu |
uGSHufer Quwir ereman? » v

(A) aumera) Sssed (Haunch)

(B) wenGai s g@endid (Spandril)
C) @psswd (Import) |

(D) gugr gren (King post)

(E) oo Astudoon

CECE/2022 o 34 - - p



55. In levich masonry when all ‘bricks are laid w1th their length in the
dlrectlon of the wall '

(A) English bond
' (B Flemishbond
@ Stretcher bond
: (D) | Header bond |
(E) Answer not known

| Qemisdian BaauLd LsbmE GaIMHEE B@mUTs Si@bseEh WeariLy
A) @l Geeriy (English bond)
(B) 0Ganfcs Gearoy (Flemish bond)
© | ﬁm@&L@ Lfﬂanmruq (Stretcher bond)
D) s @ @mamuq (Header bond)
(B) oL Qpfluciome |

| 56 : A spemally moulded br1ckq which are often used to form ‘plinth is
" (A) Modular brick & Splays |
() Arris | (D) Dog leg.

(E) Answer not known » )

asL_Lq_LgﬁeoT cgnq.ulﬁl_g,ang, @{mma;a; QUTT&S é]mpg, Qemise

'Grarruu@m |
(A)_ wrher Cemigd | ’ (B) douGa) -
(© é"ﬂd" o ‘ (D) s Qs

(E) aS]a)l_-Glgrﬂu_J@S]d)a)a)v

o | ' | 85 - . CECE/[022
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57. The horizontal 'méfmb_er of a stone, bvrick,' wood, steell or reinforced
concrete, used to support the masonry and the super imposed load above
" an opening is " ~
(A) sill | | xeﬁintel.
(C) plinth (D) perpend -
- (E) 'Answer not knov(fn ‘ |
QB Sl L 2 My, ‘esé) Qetisd, LD.IJ'Lb: A é{ﬁ)&)@]‘mé}@bf_l_l'JuLL s

SAuaupprd  Harg 2 saisE  Cule GQeuwiiutL.  Qsrsgiésdr WLHHID
SLSSUILILL.  SHEDLODWI @@ SovysE Guod g,rrrsjeﬂl_ &gmés]mmgj agarr Quu_lrr

GTGOTET ?
@) sawms (B dene
(C) a@&_m | D | (D) Qur‘r@ua’m'_:‘v

(B e pfudoms

| 58, - The use of concrete mix ratio for footpath and(cq'r_itr;:lje‘qe roadis .
@ 1:2:2 - (B 1:2:3
| ,%(1:275:3-5 | - (D) 1:2:4
(E) | Answer nbt known

weflg ‘r_r,mL;urrmg,'é;@Lb Hansnep LUTOSEGL LWLTLIGSSEmIG WL Qéﬂasrrmg) &g

ey . ey
@A) 1:2:2 (B) 1:2:3
©) 1:25:35 D) 1:2:4

(E) &flen leﬂu_laﬁil"cbéma) !

CECE/2022 e e | p



' 59. If gypsum rock containing impurities 1is heated to a temp. befw_een
- 100°C to 140°C, the end product formed is called

(A) Gypsum Anhydrite ﬁ . YB(Hardwall Aplaster
(C) Plaster of paris - (D) Pyrocell
(E) Answer not known:

wrsssmars Qaram_ gusw urepew 100°C wpgid 140°C-pe, @euwid
GOLBSsHamed AaLs@h dlear@unmdr Qe A@PssliLG&ng.

Q)  gusd s@T@anr @I

(B) suenssait g,é& |
- (©) unrﬂéé_&rrﬁgj
_. (D) Qeutin 2 9 (d).u@urr@&cﬁ)
® cogpudens

60. The mix design ratio Qf Mas grade concrete is
@A) 1:2:4  B)1:1%:3
‘%1:1:2 | D) 1:3:6"

" (E) Answer not known

Mas srar@fe. samanler aigaiemnliy 58 Siama
A 1:2:4 | . B 1:1%:3
©€ 1:1:2 M) 1:3:6
(B) ofaL Gpfudiome |

p ) | 87 - "' CECE/2022
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61. Select the correct statement :

1. As modulus of elasticity and aggregate contest increase, shrlnkage ‘

and creep decreases
2. For constant cement content; increase ir;w/c ratio increases}both ,,
shrinkage and creep o | 5
3. Humidity doe's not affect both shrinkage and ereep .
| (A)  Only 1 is correct | | | o
(B) Only 2 is correct
wef 1 and 2 are correct
(D) | 2"a‘nd 3 are ‘correet
(E) Answer not knOwn

| &rﬂu_nrsur'ah,r_f)mmcg,r'rm Qeiiwayb.
1. iSerenwns @amsid LD!_I)Q]LD ,ﬁuerr S|eTa a@asfﬂg,g,na) &(HI &S Lo,r_\)gum Qpﬁlepg,a) A |
G@pEDg

2. wprs eﬂ@mmn__tq_m am@‘ﬂm wlc aﬂaﬂg,m aﬁarﬂg@nm &@rmggev wHmId
Qpélpsed @rewr®ib aﬁmﬂa;aﬂmg,j | :

3. ST G SO HDILD Qpé\@gc‘o < Hw @jmml;utis FILILSLD unﬁuuﬁmme) |
@) 1 wcen s - S
B) 2wiEwb A :
© 1 uwpgn 2 Huamar sl
: D) 2 wpmbd 3 yHwenen &M
(E) e Qsflueldms

CECE/2022 - - 38 o p



- 62. Assertion (A) Long seasoning is the chief cause of a low specific
gravity in unadulterated cement.

Reason (R) TR Fresh ground cement when exposed to air rapidly

‘absorbs moisture and carbon d10x1de
‘( Both (A)- and (R) are true and (R) is the correct explanatlon of (A)
(B) Both (A) and R) are true but (R) is not a correct explanatlon of (A)
© (A) is true, but (R) 18 false
(b) (A) is false; but (R) is true

(E) Answer not known

(@) : seuuLwpp HAGwlg Bar_ srow USLUESSILLLID G@®pauTer. -

e;uuL_r'rgﬁmu_l ngjélpgl

_ '(a;n) : qglg,rras Si@r&sUULL, AQuoi g sMHYILELTH @euESLILEHILD Qun@g |
| Sig FILUgS@SLD SHwbie @Jrru_mneuu_u.o Aayeuins &g‘)’l@&rﬂmg

A) (<=l) HID (&) @UW@ID sfl. (sm) eramLigl (1) sanan sflwren eflaTésD
B @‘Uaﬁvr@m & ég,arrra) (&) eramLig (<) SEmer sfwrer @Slmésa;@ Sl

| (C) (1) &, %GOTITGD,.(?SH’) jFIﬂ ML) |
(D) (1) sl e, %mnd) (&m) &M

(E) ofe Glgrﬂu_laﬁld)as)m
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63. The range of alumina desirable in good earth for manu'facttiri‘n'gvof bricks

| is R o
B - '(20f 30% of Alumina
(B) 10 - 20% of Aiuﬁlina \‘
© 10- 30% of Alumiga
) 15 _ 25% of Alumina

(E) Answer not known

g,qwnaf Qeniise g,u_lmﬂé;as. abs sselds @{}meqdmrr cw’g;ﬂl_ézrrrr S gﬁmnm e
Gg,@@ﬂu@ﬁmgj? | R o
@) 20- 30% ;{-a@qﬁm sigifiem
.(B‘) 10—-20% ammmm aguuSlaﬁrr )
© 10- 30% Siarayrar g
@) 15-25% ierayaer sygy S
(E) | el Qgsrﬂbl‘l_’_leﬁllcba)cu |
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- 64. The maximum bendlng moment due to traln of Wheel loads on a simply

65.

supported g1rder

(A) always occur at the centre of span

(B) always occur at the end span

W alWaYs occur under a wheel load

’(D) - always occur in the middle third of span
(E) Answer not known |

@ ereflw g,rrréjé]asmsrrum;;m 2 $HrsHed QA mit sesqRder s@waeTTd FHUGL
- 2HsULE cuaeTS(BLILEnLD |

A) sruQurr@gﬂGu) 2 s rsdlen ﬁt‘.L,g‘;QG‘M m@mﬁg‘,ld) S|’
B cru@urr@ngw ;SL_L_gﬁm asml_eﬂu_‘ﬂa) Si@obUb "

(O) au@un@g@m R &&asryg@@‘r &mmas@ &1 SIEDLOWLD |

D) eQursCL pHepaTpraig Bl UTEGSD SieoLb : !
(E) ofani Qgrﬂmaﬁ]ef)mm | .

The ordinates of inﬂuénce line diagram for bending moment always have
the dimensions of e | -
@ fore X length

(C) force X length | (D) force / length

(E) Answer not k'nown' '

 euaver Q@qumé;a;rraﬁ. cfeneray 0 LJi_gﬁci) o 6ran SLUIBIGET .(ordinates)
 erQursiC ahs et Jidag LR@IOSMS (dimensions) ghéHempar?

@A) dos . . (B) femd -
(C) ofews x ford . : (D) &ens / Barid
(E) efenL Qgrﬂuaﬁlcbmé}' - :
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66.

67.

“When a uniformly diétributed load, shorter than span of the girder,

moves from left to right, then the cond1t10n for maximum bending
moment at a section is that, '

(A) the head of the load reachés the section

- (B) thetail of the load reaches the sections

(C) the load position should be such that the section divides it equally
on both sides

6 the load position should be such that the sect1on d1v1des the load n

the same ratio as it divides the span

~(E) Answer not known

'@@ o $Hrsden  BLLSds Gﬁh_ Gopeaurs Beraperw  Frugeud &mm,
QLgiusssde Qmps waliLsssHDE BaHLGUTSE, @@ Yflefler, Gupo euaner

-~ Ambyew deLliugpster Hupsmenureag,

(A)  sewuler gamariLmsb Gfmeem s
(B) sowuler aurdursb Gflame sioLgd

(C) GAay, FLDEW @Ucm@ua;a;(g)m ELOLDNS |_Cﬂrﬂa;@mrrgj FEOLD @@UL(:I]LLD
Bosse
D) seow QmudLd earug, Wfey, aps dAdssdd B sms :Shﬂg;ﬁl@&ﬁg)@g,n
- 1CGg efldlgsdld &mwmu_mm WhiF¥:3 G@Jamr@m N

(E) oo Qsweiicrena

A steel rod 5 m long and 40 mm diameter is used as a column, with one
end fixed and other end free. Determlne the cr1pp11ng load by Euler’s
formula. Take E as 200 GPa.

(&) 448KN - (B) 348kKN

" 2.48 kN | (D) 5.48 kN

- (E) Answernot known

5 B Berapd, 40 6.8 A Lqpid o 6rer @@ @by s @EmupaanureaTg)
Aeoawns (fixed) wpmGuorm weaear Hawudoans (free) S@widd o drer Gung, -
Euler afiflow vweau@ss siger crlppllng load Gra.l@.lmeq oTan  GaThE D&
E = 200 GPa erar Qarers

(A) 448kN | (B) 3.48 kN
(C) 2.48kN | (D) 5.48kN -

| (E) e Gsfluaidme
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68. Consider the following 'statemehts :
) Sinking of an intermediate support of a c'ontinuoué beam.
1. reduces the rlegativé ’fmoment‘at support‘ i |
2. increases’the riegative moment at support
reduces the pcsiti\re moment at support

3
4. increases the positive moment at the center of span of these

statements

\éﬁf 1 and 4 are correct :

~ (B) - 4and 3 are correct _
| (C) 2and3are correct
(D) 2and4 are correct
(E) Answer not known
£ggé;a_;,a'vr|_'ah,r_bgjsg>m smsHo Qaners :
anLﬁaﬂLLg,er Ber_ssThsl q@gmg
1 grfrsjé]uﬁld) arinoen HmLiLeno @@Qé\mg'
2. smudude afiivmp Hrpuyew 9 HaN& g
3. smudlo G;_r,r’rmmm Q@DL{@;D @mmﬁmg
4. Gpiwep Hmuyaw BargHar pH6ld élé\asrﬂésél,mg |
A) 1 oppo 4 & o |
(B) 4 wpgd 3 &
© 2 Lb,rijJLb 3 &
D) 2 wHmid 4 &l
(E) e Gzfweidame

o s 43 |  CECE/2022
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69 Read the followmg statements

(1) The dlsplacement method is more useful when degree of kinematic
redundancy (DoKR) is greater than degree of static redundancy
(DoSR) .

(i) The displacement method is more useful When DoKR 1S less than
DoSR : :

| (iii) The force method is more useful when DoSR is greater than DoKR
(iv) The force. method 1s more useful When DoSR 18 less than DoKR

" The current answer is,
(if) and (iv)
“(B) () and (iv)
(C) (i1 and (11)
(D) (1) and (ii1)

(E) Answer not known
 &paumid QempEprfismaer aumél :

1) Quiig sosdos erel@, @mmuﬁ]mw smsles areil el aﬁh_:
2fswnEn Gurg, @n_uQuu_lrr&eﬂ G 2P uu.u@,margrr@m '

(i) @u_lrsj@ swsllas serel@, Hepoudwid gmauﬂaoa; SjerailenL &l @mmu.;m-
: Gurg, @LuQuu_m)Jﬂ oD s uu_lgjsrrmgsrr@m ,

(iii) Hevaudwie ssidos ierel(), Qurigsos s csmsrrengl_am_.aﬁl|_ Siflasongib
Gumg mrﬂm& oD HE LWIGISTETSTSEID

1v) peoveoltiue soslias erei(, @mmggm&tﬂmas Serei el Gapubd
Gurrgj G{ﬂm&@omg) 3ils uu.:@mmgrr@m '

- @ea shwner LS,

(&) (1) wpgid (iv)

B) @ wpgbd (v)
© (G opp G)

D) @) wpgid (ii1)
- (B) e Qaflueidme
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70. The degree of static indeterminacy of a pfoppéd_ cantilever is -
@a o | i1
© 2 | D) 3

(E) Answer not known

: @@'@L@VQGSH'@@GU)QSUQW Hleneowimen mmqeqmﬁmm ‘—'4"4”“@- |
A o0 o @B 1

© 2 | | "'_(D)3

(B)  oflen @gmmé}@m

¥

71. | Vanadium péntoxide af high temperatures, has beeh used very effective, -
for i'embving o o ,4 | , S ' -
KSOz i : o (§2)) COs
(© Hydrocarbons (@) COs

(E) Answer not known

< .Qmuu;ﬁ\'ma)ufﬂsb Qauariqud Quer_rémaveL. @ms SsdpasHE WBsabd
2. &hssrsl LwaTLRSSLILGEDS ‘ S ' -
@ so. (B) COs
(O oapcGrrsniuer - (D) co2
E) oL Osfivedome |

p 48 | o CECE/2022
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79.

73.

74.

Noise pollutlon regulatlon and control rules are established in India in
the year . }
(A) 1986 o (B) 1995
(C) 2004 | v(ﬂHY 2000
(E) - Answer not kann S |
@pdlureiledy, @enrsed s 5;|_®uurr® Lomguu; @@M@@mm UL BIEET
Bpieuiun L é;[,amr(b\ - o
A 1986 S (B) 1995
(© 2004 (D) 2000
(B)  efleL Qg,lﬂuJaﬁlcbmsv |
A Horlzontal board spanmng the entire width of the trench is called
(A Substance bar o (B) Measurmg board
‘(C) Viewing bar M Sighting ra11 -
(E) Answer not known
| epwsg@u_‘ﬂan Qu)rrgg eqa;cog@gm 2 aier és’lmL__Lm'_l_ LS @mmngﬁ
SimpssLLhiEng) ' . '
(A s glan® B : (B) siers@w Loos
©€) &g gan® 0 (D) srawe vg,@qu
(E) den Qgrﬁu_l_aﬂsbapa) ’
Untreated sohd Wastes weighs about .
\ﬁ( 300 — 600 kg/m3 (B) 700 — 900 kg/m3

(C) 900 — 1200 kg/m? (D) 1200 — 1500 kg/m?

(E) Answer not known

g &gﬁe;rﬂé;a;ﬁul_rrg S ssfefem eranL

(A) 300-600kg/m3 = (B) 700 — 900 kg/ms3
(C) 900 - 1200 kg/m3 - (D) 1200 - 1500 kg/m3
(E) ole Qsflwelcrena A

CECE/2022 ’ - 46 ) g p



- 75. Chlorine demand of sewage represents

(A) Amount of inorganic matter

\B( Am}oun't bf unstable organic-matter . .‘
(C) Amount of bacterial population | |
(D) Amount of non blodegradable matter

| (E) Answer not known

, a;gﬂm‘r_%fﬂeirr @Gmmﬂé&r Gaaeu Spsaanapep &GOS a;nl;@\ﬁ,mgj?
(A) saflwuQummefer ammm , | ' o
B) "r_ﬂma)u_l.r_r);p AL Qur@eflan sietanal
©) urr.a;mﬂu_lrraﬁlecr areranfismsemw’

D) 2WAwrd Aeosaprs Qumpaflen ieTenau
® efenL Qs flweidma

76. V. BOD5 of se_wége@ 20°C is génerally taken as
(A)  58% of total ; . ) 68% of total
(C) 78% of total (D) 88% of total
(E) Answer Iilot} known |

20°C QauiugHe sPafler  BODs iy Qurrgjsurr& @eua.lrrgj a@g,gja

QareterLLHE D! v
Q)  Qursssde 58% - B Glmngg,g,ﬁcb 68%

© Quusssdd 78% | (D) QursssHéd 88%
(E) e Gsflwusidma | '

p | B . CECE/2022
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" 77. The formula, which has absolutely no relevance with the des1gn of water
“supply conduits is

(A) Hazen- William’s formula
Thiem’s formula
(C) Darcy-Weisbach formula
(D) Modified Darcy Weisbach formula
(E) Answer not known

G3biT Gl aigeuamlle bs @g,ﬁmo &mu;_r,g,@coa)rrg, @‘QSQU’LD?
(A) Capser aflldelwibev GsHid

(B)  Swev @gdrd Ce

() Lnid-QeuiacvCus @gSnid

D) dmpssun Lrid-GaievGus GsSrbd
(E) e Gsfluaiome |

78. Rate of filtration of a slow sand filter ranges from |
(A) 10 to 100 litres/hr/m? MOO to 200 litres/hr/m?
(C) 200 to 400 litres/hr/m2 (D) 400 to 1000 litres/hr/m?

 (E) Answer not known o ’ :

G&@DCeus e sl s -G NSz |
(A) 10 @pg,a) 100 &8)/wenfl/BLrLi® (B) 100 pged 200 &fl/wewfl /5L i
(C) 200 apgé> 400 &fl/wenfl/Brrit® (D) 400 wpsed 1000 &8 /el /S Lir®
(E) ol Gsfluedwena . o ' :

79. A treatment plant treats 12 million litres of raw water per day. The
alum dose required is 15 ppm. The amount of alum required is
«(m 1L7TkN | (B) 1.88kN
(C) 1.67kN. : (D) 1.67kN
(E) Answer not known e »
) &g;ﬁa;rﬂuq fooud @6 proasg 12 Bldduer @it ssem Bengs
&g,ﬁa;fﬂaseﬂ,mgu Cgereuwiman b Gurem 15 ppPm U ETTESer jeTa]

(A) 1.77kN - (B) 1.88kN
(©) 167kN - (D) 1.57kN
(E) oo Qsflueidama ' o
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80. The growth of population can be conveniently represented by a curve

called G | |
“(A) Semilogcurve (B) Straight curve
W Logistic curve- _ | (D) Exponential curve -

(E) - Answer not known _
g@rrg,@g,rrma; @err&eﬂmu_l EDEEEATL cUeNETEY. (l,ocmo cuFHwing @,r_ﬂg,g,ja; ST Lemb
(A)  si@r LLEME aumeTay (B) CpiCsar mmmm
(0 sellinQwe euenry : (D) <iPs®s auameray
(E) e Gsflwelooeme | V

81. Water tap prov1ded at the end of house service p1pes are called
(A) Sluice tap - ' (B) Stop cock
@ BibCock (D) Ferrule

(E) Answer not known

sl safs @Qnuﬁlszsr a;am_é]uﬁla) éianmasa;uu@w g,cmafo?rr SLpml &gpa;a;amn_mrrgj
oiopssLLEED S

A)  1sE G | A (B) ©wpmo '<9|am_|;|urra'w
(O sdlpepsiiy G gpener D) 2 Gors Lyair
(E) e Osfueldama |

82. The heav1est I-section for beam of same epth 1s
(A) ISLB ., yf SHB
() ISMB i (D)ISWB
| (E) Answer not known | :
@Gy b Qe 2 s8lysdldn LlSlGSQ.]LD SETDOIET I’ 'QmL®uu@£Iunmg |
(A) ISLB | (B) ISHB
(C) ISMB e | (D) ISWB
() ol QsAweidme | -

P | 4 GEGE/022
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83. The element of a plate girder designed to resist bending moment acting
on it is ' |

@ Web "(eﬁ“langes

(C) Transverse stiffener (D) Longitudinal stiffener

(E) Answer not known | - |

em 5.0 siLfed, GUAGT LD | Q@uummmlh REETET auamauile
. QUIGEIEDESLILIL L 2 MIUIL| 6Tl ? R '

@) o (B efleflny

©) ©Guss Aapriumne (D) Seriomen @S]m,m.uurrsisr

(E) &Her Qzflweiidvenad

84. }'Most effective and econoxhical section used as beam is
(A) Circular section (‘Bﬁéection .
(©) ) Angle section (D) H section
(E) Answer not known | |

2 s8qors  LweLESSULED  SFsuls  Lw@eLW whHmid  Héserorer

Qau@Liu@gSwumeang , o , )
Q) arL age Qal@uued ® I GQ—'L@UU@ﬁ

(C) Gsrew Qau@ULEGS D) H Qaupuned
- (B)  dler GsRweildane | : o

85. The avefage shear stress forvrolled’steel beam is Caﬂculated by dividing
the shear force by the : |

(A) Flange area ‘ © (B) Flange angle area
Gross web area "~ (D) Total Section area
(E) Answer not, known

@@ Crredini QeAUILIILILL 61§~ e L g ghuBHib &Wr&rﬂh.nrrarr LG
s@smal SRTLHL, Sibs BRIsES dasmw Shagmaipprd aiGss Geuar(id

(A)  &Qeflby wgty B) efafiby Camewr LFUIL
(C) Qurgs =0 LTy (D) Qumgs @s@eu B ugy
- (B) e Qsfueidame - .
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- 86.

8.

-/In the case of prestressed unsymmetrical I-girdei‘ the desirable ratio of :
~ breadth of flange to effective depth s? be in the range of
0

(A) 02-04 |
(C) 06-08 (D) 0.8-1.0
} (E) Answer not known | | |

4-0.6

(per g,anassq ﬁnmmumm I- @Sll_l_.ggslm afleflibyy uLGmL_uSlarr S HHID c%lepgﬂm

gD ——— c"c\b& Bmés Ceuimpid.
@) 02-04 (B) 0.4-0.6

© 06-08 . . (D)08-1.0
(E) ofeni Qg,uﬂuaﬁlmmm | '

" The phenomehen of regaining the original diameter by the tendons in
. the end zones after releasing from the jack in pretensmned concrete

member is called |
'(A) Z1el1nsk1 effect

| (B) Guyon’s effect

(C). Magnel’s effect

M Hoyer’s effect

- (E) Answer not known

.@mgmsm &H&TEDT e_guulfﬂanasr LITTLD g,n&éiluﬁ]a) O Qﬁl@aﬁla;a;uul_t_ Lﬂlm@
B uEHe 2 erer gaspransefian vEd L smg Bar@id upib afleerey

(A) élc&amoa‘,l denaréy

- (B)  @wrae doaay o R - O
(C) QusQaréev aﬁlmmm : : .

D) Genuiey alevera; | - , | |
(E) oo Qs flweldena ;' ‘ ' o v -

51 = | ’ ~ CECE/2022
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88_. A slab supported only by polumné and Without beams is,termed as -
(A) Waffle slab
\{ Flat slab
() Ribbed slab
®) Sélid slab
(E) Ariswer} not known

AL isdr @oenod, grarsemed wi GG srustLGHa SPsGsar ey

»

smpssen?

(A) . @ﬂﬂLﬁ]Gﬁ A0ES
(B) ngL_u_vrrGﬁ éfl(bW@
}}(C) ﬁug &@&@

'(D) ,é.ﬂn_ &Qécﬁ |

(E) &feni Gsfweioama

‘CECE/2022 e P



89 The flexural tensile strength of concrete can be calculated by using

(A) 5000yfck N/mm?> (B o. 7J7c" N/mm?
© fekNmm® (D) 57004/fck N/mm?

- (E) Answer not known | |

a;ma;rrmqufﬂm cuener QW auaflawn asmn_@u_l 2 $a|lb eunu.n..xurr@

(A) 5000yfck N/mm? \ef 0. 747? N/mm?
(©  fek N/mm? R (5 570041? N/mm?

(E) Ao Gsfluadddme

90. -In flat slabs, if M, is ; the total design moment the negatlve des1gn |
‘moment in an 1nter1or span shall be taken as :

@ 035M,

(B 05M,

W@ 065 M,

@ 075M,
(E) ~ Answer not known

| ,5|;as>L_»ua)a;§Qd> (flat slabs), M, erenug Gmngg QU3 QULDLIL| ﬁl@uqﬁbm\

crampred erdifoeny ez SmUySpen ey ﬁL_l_gﬁla) (interior span)
L CameT(@nLd 2ieTa _

A) 0.35M,
(B) 0.5 M,
©) 0.65M,
@) 0.75 M,
(E) e QpRuciidee

P o - 53 ' CECEmo22
' ' ’ ‘ ' ' [Turn over



91 Methqd ‘in which permissible stresses gre kept ,v.vell below the material
strep}gth
| A Limitv’s'tate fﬁethod
| | ?{ W(#;;kingStrgSé mefhod
| (C) Ultimate Loga method
| (D) Load factor metﬂod

(E) Answer not known.

Qurr@aﬂdsr QJOS]GDLDGDUJ aflL e @mmmrre's‘ a@mﬁé;q;é,g,@ LY

@) emby Paapep v

(B Gw@ué sa@sa) (pep
©) spiue vop
D) sennssman wap

(B ‘aﬁlmL_'_;Gg'rﬂuJa&]ebmvm
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92. The total con_‘l'pressiVe‘ force at the time of failure of a concrete beam
section of width ‘b’ without considering the‘partial-safety‘ factor of the
material is o

: \{ 0.36 £, -b- X,
®) 054y b-X,
(C) 066 f,-b-X,
@) 0.80fyb-X,

(E) Answer not known

@@ Qprpagd (failure) Haauddo o drar sTRAF. UL oTeE Si@eLw
osab b aar @modear sECHISHD ABS srudifiyd gHUGD Gorss Qoiss
s (total compressive force), sradfwer LGH sriy sraflew sarsdd
Qarererallérene@uictmimed | | | |
(A) - 0.36 fck 'b'Xu
(B) 054f,-b-X,
() 066 f,b-X,
D) 080/, b X,

(B) de Gsfuciom

P P s  CECEf022
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93. The 'd}epthv of ACal.lél when voluﬁlé of cutting 1s equal to‘ volume of filling is |
called as . |
(A) Normal débth
(B)‘ E:conomi‘;:'aI depth
Crltlcal depth

‘( Balancmg depth

(E) Answer not known

sreoeumis &L Cu@wQurepg, CsrarLliu@b wearafar eerab, GasmiLOu@b

'mébe@ﬂGh é@T@m FLDONS E(mBsTD, élpg c%%pgasﬁgs &Qé;ase&vf;mngj DDPEHOMLD
B)  Guourer aypd ‘ | '
(B)  fssanomen gypi>
©) e apps
(D) swar Qrispe> ipid

(E) &lev QgNwefeena

CECE/2022 D e



94. The tile drainage system which does not cOntain'any lateral drain is

(A) | Natural syster.n'
(B) ’ Grid i1"0n system

O .Doubie -rr{ain systém
Kf iﬁtercepting dr;ﬁn 'systemj

(E) ‘Ansv'ver not known

Gf;bg@@ﬂ@ ués&;éurn.‘.@ equ_a;rrm@u_qu Qasns&njq.@é;a;ng ‘.?@. QI &TE SILLILTETS)

(&) Qupes é_m.jq‘ |

'(B) am.-_amm céismpuq

| (‘C) @m;éw_ psSw SiaOUL|
D) @oLwdss mwﬁe‘v D@Ly
(E) .Qam_‘qg,mmﬂw@

57
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95. The propOrtion of Water delivered apd beneficielly used on the pIrOj‘eet‘ 1S
» gi?en by
: (A)' | Irfigation Efficieney '
B Water bistributibn Efficiency
(C) Water Application Efficiency
K Weter use Efﬁciency

(E) | Answer not known

R QI;L_gﬁ,rj)a;nas. QuPBRISLILILL. LHpL LwTUESSLLLL  searatidar  cldg

a@ug]

@A) essmu g,eiurm?rf Hpen

(B) sawenti eﬂﬁ@uena ﬁmm

© gafﬁm?ﬁ Qu..a‘nurr@ e@ug;g,aur_l_ me
(D) g,‘afcram‘?fﬂdn e @ Sper

(E) o Gsfudome
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96. Rain shadow region in India is fou_rid in the

97.

(A)

©)

D

(E)

(A)
(B)

©

D)

(B)

- ®
- ©
()

(E)

West of western ghats
East of western ghats
West of _eaStern ghats

‘South of Himalayas

Answer not known

@p@mn@ﬁlm LDENLPLOEDD u@@ 6TTBI(S a;namruu@eﬂ;pg?
Cuwhe Qg,rn_rr&é] weeseiar GuHE UGS

GupE AsTLiTed bawsellear Hss u@;_f,]
Hipda, Glgrruraﬂ weesafar GuhE u@é,]

@uwwemaufler ng@ u@;ﬂ

e Qsflueldee

‘ A stream which contributes grOund water augmentation is known as

~ Influent stream

Effluent stream

Perennial stream

Ephemeral stream

Answer not known

sz Bir GeaiieL aﬁasuu@glgs Lgajt.b Qe

(@A)

- ®

©)

O
(E)

SN(PSS PO

sfle) QP (m@p@g,n@m @am_)

auppr HHCorenL

@erma;rrw @eoL

sﬁlam_ @glﬂu_:aﬁla)ma)
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98. If the velocity distribution in the boundary layer 1s given by

1/7 . .
) then the displacement thickness is

o«
_.(B) —j-
© g
®) g—

(E) Answer not known,

. NUT
aom® HEEe o dter  Sas CeusliLigeued —=(—y) 2 CsrREsiulLme,

@ Quuitésl gigoer

® 3
© 2
™ 3

(B) e Gsflueidama
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99. | .Thé Ifollovs'/ing tﬁr’bine ig Suitable' for speciﬁc vspeed‘rénging from 300 to™ ~
1000 and head beloW 30 }m. |
('A)' Francis Turbine |
| | | (Kaplan Turbine
| (C) 'I\ibular }Turbine. |
(D) Pelton Turbine

(E) Answer not known -

' @jﬂllllfﬂtL Geustdb 300-1000 WHPID AWSSOLB 30 BLL(BEGD  G®DeuTs

| | acimf(%urrg Gurr@ggmrrqr. allenswmf
(A dgrendan Vaammg
(B) .- SLIGTITEN @S]m&mﬁg@
) (C) @eru‘_i Gﬁl@&yn@
(D) QQ@LW@T’@QG&&MW@: o 3 o o

(E) e GQsflweildrenew

o - o1  CECEf2022
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100. The followmg factors determlne the frlctlon factor for turbulent ﬂow n
rough pipes.
(A) Mach Number and relative roughness
(B) Fronde s Number Mach Number
W Reynold’s Number and relative roughness
‘ (D) Fronde’s Number and relative roughness
(E) Answer not known |

| SILBIGTS l_lfTUJQ.| @5@m @rpmﬂm 2. gmiey syenfl eﬁgasa;amn_mmsom EWI‘I’E@]GITGT@ |
(A) Guogip ereim WHEID a=rrrn_| s LAl ‘
(B) LI G Gr e inppid CSLD'@LT) GTGHIT .
(C)  Quuemmédr ev eraim LHHID &rrm_] &LDLDL_I_L&@T@»LD

- (D) Sugrerev ereir whmd &y &‘LDLDL_q_uSImmLo

- (BE) | aﬁlmu_'Qgtﬂu_loﬁ]ebma)‘

101. Find.the ‘pressure at a depth of 10m below the free water surface Ina
E reservoir. Take spe01ﬁc weight of water = 1OkN/m3 -
A 1 kN/m2 : '

- (B) 10kN/m2?
@ 100 kN/m?
© (®) 1000kN/mz
- (B) Answer not known
BiGséssSen ugo@aﬂ@;@ 10m wypsde  Qeuau@n Siosder iwsssdar
L Sa@al asemaseﬂ@ Efler ser eTevLenws 10kN/m3 T a@g,ga; Qameterayd :
(A 1kN/m? |
(B) 10 kN/m?
(C) 100 KN/m?
(D) 1000 kN/m?2
- (B)  efenr Gg,rﬂmaﬁ]‘ébmwb_

CECEzoz2 e 5




'102. IRS P4 Satellite is used for
(A). Land .use' study .
' W Oceanographic data collection
C) Agricu1tural study ’
(D) Hydrological data collection
(E) AnsWer not known 4‘

IRS P4 Qswpeass Garar @gﬁ@uﬁumu@gguﬁ@&mg..
Q) Pevuweun® e |

B | asl;cbuuqu,um GeaMLiy

©) Gmcrfrraiormm Y
| D) Bireuer srey Ceafliy

E) oL Osfudoas

103. A light house ié-visfble just above the horizon a.t‘a certain station at the
 sea level. The distance between the station and the light house
“is 100 km. What is the height of the light house?
(A) 168.20m  (B) 186.20m
(©) 627.80m  N@67280m
(E) Answer not known |
e somsmrellas@ Ll (‘;mmuuuuq&@ Gud fo GLiuseld s wILsHd

Qsfdpg. bs QLSSHHGWD, sOESE]T AerssSHD@GID 2 6ter CFTmaa 100.8.8
UL QUISTDTED, SERISEN ensegHen e wfDd eTeme ? . : :

(A) 168.208 ~ (B) 186.2018
(C) 627.80 8 o D) 672.80 8
(B e Osfudoms S

P o | 63 |  CECE/2022
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104. Hypsometry deals with
0( Boiling temperature (B) Room temperature .
(C) Standard temperature (D) Atmospheric intensity

(E) Answer not known

‘m@ﬂ@&n@@ﬁrﬂ" eranugl TGHTH QBTLienLwigl?
(A) Q‘a;r@@mﬁuﬁmm’ (B @{66')!1) G@Juu;ﬂmm
€) B Pow (1) Huw chuuﬁ,]ma) (D) auaflweir_ Q&;ﬂm ,.

(E) MeL Qgsﬂu@ﬁ]mmm

105. An imaginary tli‘ne joining intersécti()n point of cross hairs, optical centre
of eYe-piece'and itsc0ntinuation-is : o
M Line of s1ght | - B Trunnion axis
(C) Bubbleline (D) Altitude line
‘(E) Answer not known |

- umiTeney é:bl.q_US]GDT mmmuqmaﬂmwu_;m, Car@sefer QQJI_(B\L:' _qciTGtﬂa)u‘_me

@mmg,gj Qg,ru.neté]u_lrra; G]&a)a)a;a'aqu_» as,r_l)uanarr&; Ga;rr@ Grafrugj
(A) | Lirfeaid Ga;rr'@‘ c (B) a‘JmL_LoL'_Lé; 30
©) ©8PQsTH Csrh D) Goosdip Ganh

(E) &l Qgsflweldrera

CECE/2022 N o . o



106. Which (of .the following is among the ,‘p'rincipal methods of plotting a

. traverse survey?

‘ O/ Angle and distance method " ~ (B) Stadia method

107.

) © Subtense method - (D) Jaderin’s method

(E) Answer not known

vIS]G’)TQJ@QJW@J‘[DJﬂd) /Grgj @@ igomauiiey  Qpuienes AL Gaighamer " cgaésés]u_l
@mmasaﬂm @mmn@w? | | o

| (A) Gasrrsmm wHpid GFTamwe Q,pm;p ‘(B) GDCSl_Lq.UJrr oD

(C) gear pop (D) grfen wep

. (E) el Qg fwaildera

Isogomc 11ne is the 11ne connectmg points having the same

(A) dip’ o | \ﬂﬁiechnahon
.(C) trtie bearing : ‘(D) magnetlc beanng

(E) Answer not known

g0 ggésa;é;(‘éaﬁ(g ararg, Qs @GU almm Qa;rramn_ Qe qmaﬂa;a)m
Qavems@ib Carh éd,@m ' : '

Q) sflay . (B) pawy elassd

© Quuwrer Hesuetey (D) srps HavssCamar
(E) ofleni Qsfweideme

6 " CECE/2022
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108 Balancmg of 51ghts means

(A) Making the line of collimation horlzontal

@f Making the distance of fore sight station equal to that of the back
. sight station from the instrument station :

(C) Taking fore sight and back sight readings at. the same statlon
D) Making fore sight reading equal to back sight reading
(E) Answer not known

UITTen6uSenarT &Loeirru@gggob eTEITLIg)
A Gpﬁmﬁlm&urrés&@ GamenL& és)sm_ml'_uorré;@gd) |

(B) eusrar  fHoousddmps aGamss Hoowusder  gs@SYD
’ l_cﬂarrGaTrraS@ ‘r_ﬂma)u_lg,ﬁasr SNTS®SW|iD e:mwna;@g,a) _

C) waGamsgs wpgid GarCarmse ccqman@_lasmm @Gy Lﬂmwmgﬁm @@g@‘
T(HSSe0

D) (g)arr@arrrra;@ SleT@EIMW LS]GOTGGOTITHS@ DAGTMEAUEG FLDIDMESSD
(E) oL Gsfualoma |

109. The readings taken on a bench mark with R.L of 100m, and top of a
building are 1. 5m and an inverted level of 2m respectively, the R L of

building top is . |
&) 96.50m o %03.50111
(C) 104.50m (D) 105.50m

( (E) Answer not known

100 8 UL ﬁlmm@asrrasm_ @ Leteflufer lBg,JLo HDID 6 asl_lq_l_gﬁm 2 &8 Bgb
- aRSsLULL. ereiHamer Gpmm(’éu.u 1.58 wHgd sowED 215, eeaTprd Sligl

g&eﬂuﬁ]mRLamug o | » L | e
(A) - 96508 ‘, (B) 103.50i8

(C) 104508 . (D) 105.508
(E) e Qsfweideame ‘
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- 110. The Fore bearing of a Survey line w1th Back bearlng 210° is
@ 200 ! (B) 40°

»_'@)/30° - - (D) 50°

(E) Answer not known = -

’. QR el Gaﬁt_tq.sirr @ﬁﬁm&é; cz;;nmb. 2’105 aTafléd Digen Qpa’s‘r@m&é
Ganamrd GreiLgl ' | N |
@ 200 (B 40°

L (© 30 S D50

(B oL Opfudoms |

111. The plane table board is ﬁtted with a -
O{ levelling head arrangement
) (B) ball and ring arrangement
' (C) rlng and socket arrangement
) (D) tribrach arrangement

- (E) Answer not known

Fogear CSnyoan& CTHEIL6HT @mmré;a;uu@éjmg ?
=V | é]a;LLDl;l; q,r_i)urr@
(B) ups weTwL THUTE
©) pp—— upbs gHUTE
(D) QPéi@eiﬂGoﬁ@qu. FHUTE
(B) oL Qsflucddma -

& '~ - CECE=2022
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112. To avoid mechanism formation, the trusses must be — : —— in

shape. | |

(A) Hexagonal =~~~ (B) Polygonal

W2’ Triangular o (D) Rectangular

(E) Answer not known ¢

. Quiisawey &@eurr@g)mwg 5@58;, gnen&sesn.@ | augaussedr Q(mEs
Geuer(Ritd. . | '

A) oprCsrenr : B L Cament

(©) w&Gamenr (D) Qséueus

(B e asfuddma

-113. A bar of square cross-section df side a is subjected to a tensile load P.

- On a plane inclined at 45° to the axis of the bar, the normal stress will
"be. | o

. 2P : . P

@ = B

‘ P ” - P
‘ M 2a* | | ®) 4a?®
(E) Answer not known |

u&&gﬁaﬂ FZIIGNES QU () ULl ‘T @ @@@fﬂm& P &S g|_u®§guu®£§)m§j
Ul enL é{sa'fa;@ 45° &rru.:g,mgﬁla) BITDD SN&5a, Gra.la.umm

W 2P '
P : P
© % O

(B eler, Gpflucidame
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114. If E = young’s modulus, I = moment of Inertia A cantilever Beam of
length [ 1s carrymg a uniformly distributed load of W per unit run &

over the whole span The slope at the free end is.

( wl3
6EI .

wi?
® omr
S wi
© ear

wl®
O omr

(E) 'Answer not known

E= wa gasd, I=foowns ﬁ@quﬁmm GTENTHTE) f,érrd:‘ 1 Qsne @
) Gaan_Seuit aﬁh_l_g,ﬁla) app span BSgis W / unit run eTenp (1 Fymen @Sl‘r_ﬂCBu_lrra;
uélirey &L @@pgrra) SLLDD @Lq_aﬁlco &rﬂeq GTEOTLIG

l3
Ay W
( ) 6EI
o wl?.
® om
wi?
(C) oEL
- wl? |
O omr

(B) e Qsfiweidama

p T 6 . CECE/2022
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115 A simply supported Beam AB carrymg a pomt load W’ as shown 1n

ﬁgure If E=young’s modulus. I = — moment of inertia. Then the slope at

Ais
| W |
A B
T we vz 17
| ' |
BV 4l WP
% 16ET1 R - (B) 24E1 -
Wl3 | | Wl2 |
O Temr D) oamm

(E) | 'Answer not known

uLgHed a;rrL'_l_llqu"_@GiTmutq. ‘W’ aenp Lerell seo QaTemL @ STSIEIONS
- smustulL i AB siflé E quBJ@amTasm I ﬂmwmgﬁ@quﬁlmm erafled -
erefufed &ﬁlm GTEIGUETEY ? ;

A — . B
owe w2
| ' —
W W
(A), 16EI - ®) SaEr
.(Q 16EI o ®) 24E]

(E) oo Qsflucdoema

‘CECE/2022 10 - __ P



'116. The shafts of same length and material are connected in series, If the

117

ratio of their diameters is 2, then the ratio of their angles of twist will be

@ 8

C 32 - (D) 64

(E)" Answer not known o

@Cr f}mw Log)gum Quimgper Qa;rrcm|_ @Umﬂ'@ g,aiw@a;crr Qgrn_rﬂa) @ene Q@pgnm
- simauseflar oL Qfsb 2 erempre, Gerert SwLy G’asrremma;@r#
eTeueUaTe|?

@ s | (B) 16

(C) 32 e . (D) 64

(E) aswm_-@g,;ﬂmmamm

In a cantilever beam the bend1ng moment at any sectlon of beam 1S
~equal to the : '

(ﬁ( area of the shear force diagram between the free end of the beam

®

~ and that section.

(B) area ‘of the bending moment d1agram between the free end of the
- beam and that section. :
(C) area of the shear force dlagram between the fixed end of the beam
~and that sectlon '
(D) vertical ordlnate at that section in the shear force diagram.
(E). Answer not known
20 BIOEE AL B Tps GG ANigid sipen auamar ﬁ@uumw @w@ SLOLOTES
Qosen. -
Q) eps ﬂﬂ@ﬂm@m anr&x@ s Gb @ml_ufﬂgumm pguas@sﬁlm&u ul_g,ﬁarr
ugliueTey
(B) <z GReHED Qgrrn:u@ @mm&;@m v @ml_u_‘ﬂgucrrm mmmﬁ(@uqmm
uLgHlan LipLiLaTey
€) <5 GAcidEL gLy Q,omeo'res@w @eL_Guie arer p@j&;@aﬂm&u uLgder
. ugliuerey
D) POIES afensiy ut_ggﬂa) <9 feller Q&mgg,gj <pWith
aﬁ]am_ Qg,lﬂu_lsﬁlmmw '

71 R CECE/2022
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| 118. The point of contra ﬂexure‘occurs in |
A 'Cantilever beams - (B) Simply supported beams :
(C) " Fixed beams - (Overhangmg beams

E) . Ansx)veij not known .

 adlfwry amadilos Lerell ghubeig eréled
(A) Operes Aib (B) sngmyam ysra) eflLb
(C) ;gl@i)GDu_lfTGM'G)ﬂl'_l_Lb . - D) Gmsi)@g;_rfr&&d) 2 Grem el Lid

(E) e Qsfueddema

- 119. A Céntilevér beam haﬁng a length of 10m has a uniformly -'distribﬁted
| load of 2 kN/m. .'Tl"xe maximum bending moment is
(A) 50kNm o 100kNm
(© 200kNm - - . (D) 400kNm
(E) "Answer not knbwn | :
10 m ﬁm@m;m R c:a;amr@jmr'r &gﬁqm/g@ggaﬂu_ 2 b 2 kN/m eTe

ﬁunaﬂ weapuiled é)qgasr (y)@ ﬁmgg‘,]go@m FELOEWL g,rrmJ@éi],mgj DS 6T aﬁ&u;&'
cueneTdmett cramLig! o |

(&) 50kNm (B ldOkNm'
(C) 200kNm (D) 400kNm

(E) &ler QzRlweleoena

- CECEmOZ2 ™ e



- 120. Relatlon between E (Y oungs modulus) K (Bulk modulus of elast1c1ty)

' and C (modulus of l1qu1d1ty) 18 g1ven by

(E_ OKC

3K+C'

3K+C
6KC

<B>' E=

6KC

© - K+3C

: - 8KC
D) E= .
( ) B 3K+C

(E) 'Answer notknown

E (u.umgawra;w) K(u@tb&@@'o'resm) WHMID C Gﬁlmmuqa;@m'ra;m @om.@u_lu_lrran |

: amm& swerum(p u_nrrgj Grcnﬂa) o

@ B ;ﬁcc
: '_‘(B)» B E=3é{I;-CC | \\
© B-KC - |

(B e Osfludoms

e . CECE/2022
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121, ldentlfy t}le wrong statemerlt ‘,

A | ‘Thermal "stres'Ses are induced in a 'body. ‘due to ohange mn
o Tem]oerature | | | | |
(B)  Thermal stress 18 also known as Temperature stress

%Cf If the Body 18 allowed to expand or contract freely, stresses are’

| set up in the body | Lo
| (D) If the body is allowed to expand _or eontract freely, rlo stresSes are
| set‘up in',the b‘ody- _' | L

(E) Answer not known

| gmpma@mmu amdunmm STanTayLh.

A) thju‘r_ﬁlmw mnmm SMERTLDTS @@ Qum(pefed Qariu a@ggmam .
gndm;ﬂu@éldnmm,‘ L ' |

B) QauriLs @{@gg,l.b, Qmuu‘rﬂmw a@gg,m arepId @ WP&EILIHEDS.

©) ,Qu.rr@eﬁ grg,;rjr,g,hjmrra; .aﬁlrﬂmml_sug,r’p@ | sideg &@’rsja; »é{@w(é,\g,g,rrd),'
Qun@'oﬂm é{@gg,mam &@QJ[TSC:JGOT,[DGGT | Lo |

(D) Clurr@m &g,mﬁumrre; oﬁlrﬂmmL_u_JGaJrr éqcoa)gj Gi-(ﬂ_jl'BJBSCgQJI'I' a@jmﬁggmm :

| TS &@gg,ma;@m a_@a_vrrm(a;‘,]a)ma) S

(E) oﬁlml_ Qg,rﬂu_laﬁla)ma) SR

CECE/2022 B S - p



122. The ’val"ue of rthe. factor -f,iL’ véhen ’;B=_2'o om, K - 20 N'/cni?,
| 4EI=1‘VOIV_°‘N —cr).z‘fz"and L= 30.()icmv 1s | | |
Y% 30 ;
® 10
(C) 2.0
3 (1 ))" 4'.0 )

. (BE) Ahsw.er not kno{;vn

lL arenD 5ﬁqmﬁu9drr mmuq@; B='2 0 Qe.Ls.;\ K = 20 @Q-_@/Qs;(si;
| E‘I.'=‘1k0’1° @Q,-__E_@-_,Q;.Lsé wpgid L = 300_61;5 eraﬂcu |
. V(A)‘ 3-.01‘ : ’
. ® 1.0
(© 2.'0:
| @ 40
i Gebedias

P ' CECE2022
: ' : ‘ ' -+ [Turnover .



- 123. A 4x3 p1le group has the followmg detaﬂs d1ameter of each pile
is 350 mm, centre to center spacing of pile 1s 1050 mm, efficiency of

group pile is 71% and capacity of a Single plle is 400kN, calculate the -

~load carrymg capac1ty ,
(A) 3048 kN | - (B) 3118 kN
(©) 3318kN @) 3408kN
(E) Answer not known | R |

@m 4x3 eud @@aﬁlm ﬁ]mm@m @S]@Jmma;m o _gremen. @m@mn@ @aﬁluaﬂm
eflin 350 . 8., @efwelear e@wwusHdmbs @ww QoL Qeed 1050 W.i8.,

&(pedlen Q&u_va)ﬁ,rpafr 71% woHgibd @ @@SIUJG&GM gf,],r_r)em 400kN FELD §ITFBJ@LD
- Hpeeans asmra;a‘,l@a; ,

(A) 3048kN . (® 318KN
- (C) 3318kN. . (D) 3408 kN
| (E) eflenL Qg,rﬂu_laﬁlcvma) :

124; The net ultimate beai'ing capacity of 2 m wide strip focting resting on
. pure clayey soil W1th cohes1on 10 kN / m* using Terzagh1 s theory is
(A 114 kN/m ‘r{ 57 kN/m®

(C) 570 kN/m? - (D 5T kN/m_

(E) "Answer not knovVn‘ L L

R f}Gﬂ’I_II_QDI_ c9|Lq_g_f>c;rru) (Strlp footlng) 2 m s G]&mmm__gj &ggmrreo‘r safloar
syl SiMW&ESUILIL([HETeTgl. DAB6H a;aﬂmcmmﬂm - lenewtay

(cohesion) =10 EN [m? T ITED, Ql_rr&neﬁl aﬁlerrasa;uqu_ <bS aserﬂwmfrmﬂm Hey
C omd g,rrrsj@u; é\;pasr Grmeucneq? . .

(©) 570 kN[m* . D) 5.7 kN/m?

- CECE/2022 e p




125. Taylor’s stability number curves are used for the ahalysis of stability of

slopes.'Thve‘ angle of shearing resistance used in the chart is

¥ Mobilised angle =

(B)
(©
(D)

(E)

}Weighted angle

Effective angle

Both (B) and '(C)

Answer not known

Qe (Téylor’s) Aeowuys  geran | a@r  amareyser | sflaysafar

‘;B]ma)g,g,eiﬂmmmu_l NG Q&mm_uwdnu@ggﬁm@aﬂdmm. Qﬁlmésa;ﬁul_gﬁm

uu.:ésru@{ag,ﬂu@tb 'le'_@.g,si) erflincden (shearing resistance) Garemib.

A)

®

©

D)

®

Sotou’ e Gamewrid

- erepLjemen Gamemrid

vwgyeter CamanTid
(B) wppid> (C) @ranGid
eflenL Qs flwiclidvanay

7 | - CECE/2022
A [Turn over |



'126. Dilatancy Correction for saturated fines in standard Penetration test is

© given by following relation
\(N15+/ N'-15)
o (B) N=15~—%(N ‘+15)'
| © | N=50—%(N1 +1’5)'
©  N 30+/ 1_15)

- (E) Answer not known
Gé;bgsr; BIPLILE Géng,mmuﬂd) HerpGedleydm gxcm gj&dfé@éﬁ@‘ é{@fﬂé;é;ﬂu@Lb )

ﬁ@gﬁgﬁ masrrarr FLOGHTLI rr@

N-= 15+}/ 1_15
®) VN 15- 14 (N* +15)
© N=5o-'y(N1+15) .
® N-= 30+/ -15 )

~ (E) eﬁ]am_ G\gtﬂwcﬁ]si)ma)

'CECEjzo22 78 I | 5



127

128.

The shear strength 1S expressed as (As per usual rotatlons)

(A s=c +0's1n¢

\@r s=c¢ +0'tan¢

.(C) §= c/o-tan¢

D) s= c~—0'sm¢

: (E) Answer not known

EPIES uedleio @QJQJITQ] leﬂ@ﬁ]&;&;uu@éﬂmg (Q_IIEQBSG:'»LDITQT @@uﬁ@ammu Qurrguggj)

-(A)‘ s=c +0'sm¢

(B) s=c'+otang’

(C) s=c'/otang’ - e ‘ ,
(E) efleorr Qgrﬂwaﬁ]ebsbm , L |

Identify the 1ncorrect answer ‘The increase in effectlve stress in soﬂ 1S

(A) - Decrease the V01d ratio
(B) Decrease the compress1b111ty

' wf Decrease the shearing res1stance

(D) Decrease the volume of s_o11
(E) Answer not known

"geumrran eflenL_anuis GSQR)T®I_CI]LQ_565Q|LD Loasurawﬂcu uu&)@g gmassq e;@aswrrmgj @mg, |

‘evareladpg. |

A yer aﬁ)és'lg,gmg,és'@mmé;éslmg

B) a@a;a;g,mg,a; [GEIL20F T

(C) smss Grélrrucouas SODSADS!

(D) wemeer sar SiaTmals G@DEADS

- (E) afleni QsNwefdena

R " CECEi022
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129 The den51ty 1ndex is equal to the ratio of

Where |
e — V01d ratlo in the loosest state
e,;, — void ratio in  the densest state
e,wtt . Void ratio in the Natural state
( A) ‘ Id €max +~enat‘\
" : ‘ emax ~ €min
B) Id=max=Cnat
€max T emin
(C) Id=SmextCat
o €max + €min
\{ Id — emax enat
- : o emax emm ‘

(E) Answer not known

[ LD&T élL.lT@.]ES @gﬂuﬁ@ Afgd eremgl

o (A) Id = €max + enat
€max — emm
_ (B) Id= €max — I enat CL

€max * €min

(C) Id = €max T €nat

| ax * €min

©) 1= Sanx =

- €max — €min

(E) oflen Qgrﬂu.l@ﬁlwas)a) .
Where, R

€max — Void ratlo n the loosest state ,
em-v — Void ratio in the densest state
émt — ‘Void. ratlo in the Natural state
C‘ECEIZQ,Zz' S B




130. Stoke’s law is valid only’if the size of Particle is

%Y
B)

Less than 0.0002 mm
Greater than 0.2 mm

W Between 0.2 mm and 0.0002 mm |

D)
(E)

Less than
Answer not known

G e alld @;5;_5 S|GTeYETeT gjs;m&@a;@ LBHGW Qun@pgm

A)
(B)
©
D)
(E)

0.0002 B aTaéE GS®DTE @@gf@nw

0.2 18 STTalES é{‘é,la;wrra; B mpsTe

0.2 0I5 iaTayEGb 0.0002 1518 6T G @am_ufﬂa) @@pgnw

GOpaITE @GEETD
far QpRweldena

| 131. A soil héving particles of nearly the same size in called

(A Well gi'aded

. Uniformly graded
(C) Poorly graded
(D) Gap graded

' (E) Answer ndt known )
@G’u SjaTaéTer g:asmasmm Qa;rrawn_ LD T & T £95mmegm creueurr@
SiDPLILIG) ?
(A) perprs g_,mb GfssLLCL g
(B) - &ms sy OAssLILLL S

(O @mméurras STLd |£]rﬂé;é;uu|‘_|_'§j |

(D) o Geaed Qsre( STLD AASSCILC L)
(E).

efenL Ggﬂﬂuﬁ:@ﬁ]@bm@

81 - : CECE/2022
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132. For busy airports, the wind coVerage may be increased to as much as‘
(A) 93 percent to 95 percent |
(B) 94 percent to 96 percent -
(C) 95 percent to 98 perCent
| \Qf 98 percent td 100 percent
E) Answer not known
@u_mfﬂa)wrrg eﬁ]mrrarr ﬁlmmmg,ﬁm STHmI %ﬁ)m,@mcbmw | Qb5 'é{afeﬁ];_f)@
él,g‘,]asuu@gg‘;]& QsmaraTaid. ‘ .
A) 93 sgeipg (bl 95 eseisd auey
(B) o4 55655580 mpe 96 sHaisD elany
(C) o5 &g,aﬁgg@aﬂ@mg o8 &geﬁgm @y
(D) o8 speizsdimipg 100 Egaﬁ’g,m auan(y
(E) &en Gsflwelwma

133. The aircraft parking pattern which occupies maximum space is
(A) Nose-out-parking
(B) Nose-in- parking
(C) Angled nose in/out parklng

W Parallel parking |
(E) Answer not known |

Heps GLsms RsAnbssd angnid Anssisd UG
(A amarse wppuEd Ceuell Pnssisd umhiE |

(B) arerse @QQ@@ 26T ApsEIs®d LThE

© G&ﬂaﬂﬂ'@)‘eﬁﬂ"r QJrfGirrassv WHuES gch/@euqﬂ Ppisgise Lmks
(D) Qo Hnssisd umie

(E) ~ el Qg,fﬂ@@ﬁlei)ma) |

[ . _
' CECE/2022 - s _ ‘ o



134. The shift (s) of a transition curve is given by

.in :

A») S_EE

. L2
B) S=——
® S-5p

| L
v s- =

‘ L2
s=L_
@) 48R

| (E) "Answler, not known
R & Lbﬂ;_f);p m'mmaﬂcirr wﬁﬂ)pr eTeTLIg)
A) - S=—
® S=—=
© S=—=
@ S=

E) o Qgrﬂueﬁ]cﬁmw

o | | 8 \ | 'CECEI2022}
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- 135. Which of the following plays a vital role in preventing conflicting
movements and thus accidents, derailments in railways?

(A) Tunnelling
(B) Electrification .
(C) Linings

@{ Interlocking

(E) '_A'nswer not known

@Uamui_l_ @u_lasasmassmmg g,@uug] LD]DQ_II.D Uu.‘ﬂcu(%suuﬂa) aﬁluggja;asen, LD
Hr@sSladipbg sHLLSD Lﬁlmm@mmmmy_&m q,pasa%]u_l urm@ eua‘:]uugj 6Tl ?

(A)  srmusiurens

- (B) ﬂLlS]dTLou_lLerrésesw

- (C)  ypeflser |
D) Qe torsdn (Interlocking)
(E) oer Qsfuaidame

| 136. The max1mum degree of curvature for Metre gauge is hm1ted to
@ 10 Y{lac’ |
C) 30> . (D) 40°

(E) Answer not known

T gdm_ajrrmgglﬁ)@ ofsLL & QJ‘mmmés Caanr SiaTay Grei‘Jeumm @@&@Lb? '
@ 100 - ®) 16°
© 30° @) 40

(E) e QgNwueidena | |

' CECE022 | . 84 f ' o



137. As pef IRC, the carriage way width of intermediate carriage way is -

@) 5m | B 35m
e 55m . D) 45m
(E) Ans‘v_vei' not known

IRC - Qe L.i@. @i L euekry efFsraeuien s bwarig)
@ 58 B) 358
©) 5518 @) 458

(B) e Osfwueioma

138.

The test used for detecting over heated or cracked bitumen is

@( Spot test (B) Solubility test

(C) Float test | - - (D) Viscosity test

(E) Answer not known

- 2ifs @@lﬁ]q.g,gs sy - Ganss GOwaes  (HT) '5aivn._@a_|§gj)@ﬁ

 uwerLRgsLupb Cergaer ey SiMPESILEADS.
(A)  evunt Cengenan , (B) asmu‘é,lma'frvc&rrgmm
(©) .L&‘QSGDQJ Gergener D) ur@ssearew Gersmar

| (E) oo Qzfweldeme

8 - ‘CECE/2022 -
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139.. While deriving the formulae for the length of valley curve, it is assumed

that the head hght I8 ———— metre above the road surface.

@ o025 ®) 0.50

W0‘.75' - (D) 0.85

(E)  Answer not knewn

| LTSS, Guas)eneﬁ]aw ;Sm;sg’lp)e;rraﬂ GSIrmisamartl ngum Qumps Eﬂ'GDGDUS]GOT

- Gupurnine Gube ————— Sl gereilenéss sGELILGSHDS.
@ 025 (B 050
© o1 (D) 0.85

(B) oflerr GsAweldoere

140. As per census 2011 the numbers of Non Statutory census town and UAs

in India? - |
&) sos2 (B) 3592
@2~ 3892 . s394

(E) Answer not known
2011 mssmag,mas sensQs@rdarug, @bHurele o drer &Leugﬁmmmp &S
Qzrens asmré;@&@ﬂq B&JEIGET HYILD p&ﬁuqmm&dﬂm (UAs) eraimenfisens 2
() 3082 . (B) 3592
(C) 3892 | (D) 3924
; (E) aﬁlml_ Ggﬁlma&’lwmw o | |

CECE/2022 T . P



 141. The board of subsidised industrial housing scheme suggested minimum
plot size for constructing two small room houses. | - |

‘(A) 8.08 m?
(B) 10.40 m?
W 21.56 m?
| (D) 33.11 m?

o (E) ‘Answer not known

eI L Gg,rrg@a)gjmm eSL( G\J&ﬁl ﬁL.l.gﬁm amflwib urﬂggjamjgg @@
ieop Qaram_ 56 s CL ule ﬁco BiT6y eréliauaTal

(A) 8.08 52
(B) 10.40 182

(C) . 21.56 152
‘(D) 83.11 42

(B el Gpfudido

142. Civil survey is conducted for -
| (A) On bigger of scale
(B) On smaller scale
In and around to town

D) Geography
(E) Answer not known

o .@iq_l.oésa;e'n saT&olEHUIY pLg,guu@mgj Grdsrug
| (A) QuAw SieTefa | ' |
(B) Au werelld>
(C) psrd LYY @ SH
D) Heelwe _
(E) oo Qsflusddoe

P . 87 | . CECEr022
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143. An approximate -quahtity of steel in treinforced cement concrete per cu.m

~ of concrete 1s
 1%w2% (B 1%to3%
(C) 2%to 3% (D) 3%to4%

~ (E) Answer not known

@(H e &gu; eugug,l_l_uuu_ éﬂQmmn_ Qamasrremuﬁlw 2 GG GToo( m@lgbuq_a;aﬂm
- SjeTe @gmrr@m

(A) 1% Swie 2% aeny (B) _1% Awps 3% @y
O 2% Smpg 3% Guemq I (D) 3% Smpa 4% euenyy
E) o Gsfucivme |

144. A person who takes the loan agamst the secur1ty of his property 1S

known as .
(A)' Financer o m&ortgagor'
(O Lessee - R (D) Banker |

(E) Answer not known

oLy Qsrsas urrgwsrruu&a;rra; Qa;rr@g,g] L6 . QUITMHIEGLD Lr,urr @eumrrgu

amrpa;esuu@aﬂmmr
A pHwrert | (B) SILLDMGHTLD a)éJé;@‘r_sr'r
©) @ggma;u_lrrmr‘r‘ - (D) eaust |

(E) eflenL Ggfweidama

CECE/2022 - - 88 o | p



145 In a detailed estimate the prov1s1on for Water supply and samtary works

146.

| 1s, usually , |
A 5% R (B) 6%
© 1% . - m 8%

(E) Answer not known -

T aﬂmuwmﬂ wﬁuﬁuq_a) ﬁnmgmggw wopid  sfle) Bss CoumasEnsE
QUPSSHLONS eTeucuaTe) SiaflssLLBE DS ‘ : I L
@& 5% (B) 6%

© % ) S - D) 8%

(E) efen Qg,rﬂ@aﬁ]e_i)mw

Form - C is also known as Bill Through which the contractor receives the
amount in stages as per completlon as that stage, is

' (A) Final Bill

(B) First and Final Bill

@, Running Account Bill

(D) CashBill
(E) - Answer not known

| LILq.QJLD C aarug @uubssTTT 5L®wnm§§1@5nm Qg;nma;uﬂ]mm SLlgpigbsliiL

Sereysaflen seuamentuiied Gugibd Lll_lq_u_ld) eTeTLIG)

A) @Qjﬁl a;mTa;£|_®u LJI_Lq.u_IGO

- (B) @sod vppib Qo 8560'0T8_5§L®U.u1'_q_u_15b g

- (© Quiig samsEL B UL gD

D) uewr seETESEL B UL iguwid

- (BE) oL Gsflucioma

8 ' CECE/2022
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~ 147. The most popular type of organisatioh used ifor civil Engineering

~¢6r;structi0n 1s Ny

| (Line or'gaﬁisation

(B) Line}and staff organisation |
(C) Func@ional organisation

(D) Effective organisation

(E) Answer not known

sL_(HLrer HmnéE q;_i)pl amwuq é@? o
(A) Gg_r,ﬁ(%asr;ﬂ_(a ammﬁnu |

(B) Gpﬁ(%a;rf(bj ;opbgij c’xtgzjma)fr gmmﬁq

(©) Qéu.nd)&rrr’rgjsg aamouq |

D) Quﬂ@:i;@nm emmmﬁqj .

(E) - aﬁlabl__ Qs Mwelidame

CECE/2022 | : 90 | | P



148

149.

- (A)

The main objective of plannlng is

l‘( Econom1cal and on time completlon of prOJect
(B) Only on time completlon of project

(C) Only for most economical completion of pI‘O]eCt
(D) Economical and safe completlon of prOJect

- (E). Answer not known

A @,5051651 Gpna;esm Grarrug.j

(A) aﬂa;a;mmrra;mm I GO L CrrsHd G]&u_lwﬁl_Lg,mQ Q,ou}uugj
B) EAudrL Cprsde QswuadiLsms awigLliug LDI.@LD

(C) &Qssarons QeweddlLsws uliug LLHDL

(D) Aésamonsayib LoMHOILD ungja;fruuna;me QewodLLgws (pgliLg
(E) ser Gpfuciome | e o

If tp, t; and tp are the optimistic. most likely time and pessimistic time
estimates of an act1v1ty respectlvely, the expected time ¢z of the activity
will be | |

@& lotditie o 1{1&0’45% +ip
' 5 “ . : 6
(C) to +'4tL +2tp (D) zto +4tL +6tp

7 | 12

Y(E) Answer not known

e G&u_la)um_u].an 2 855 GBI, Gu@murrgum Baws saquCprbd, urss Cwyb

wpaopBu 1o, t; wHgw tp adaflld ps Qewdumger Grﬁrrurrrruq Gpum lg
£|c.pasasmn_mrrgj '

to +3t; +tp - : L +4t +1
.20 L*T'p (B) (0] 'L TP
5 _ 5

7 ~ : | 12
(E) oo Qsflweldewe | '

91 IR CECE/2022
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150. Dummy activities are used to |

@

(B)

O
®

Determine the critical path |
Determine the project completibn time

Maintain the required net work

| None of these

Answer not known

Qaupm Q#u.:si)urr@aﬁ@rﬂch_ (Dummy activities) Lwer

A

(B)
©
D)

®

Hlevewmy Uramgew seréélL

S apquiy Cprsms samsd
Caeneuwiner eueme @@m@mw uuﬁmrﬂé;s
@mmg& FHID Gevranay

eflen Qgﬂuaﬂ&mw

151. Critical path

‘ﬁr Is always longest - (B) Isalways shortest -
(C) May be longest ’ (D) May be shortest

E) Answer not known

AR g LN | |

Q)  auGugDd ferorearg) (B) erc:Gurgib Gpdus)

‘(C) Ba Berwors @@é;a;a).rrm | (D) Bs GSHwusns Bmssend
(B)  oflan Gsfuclomn “ |

CECE/2022

- 92



152. The Statutory time limit of ‘master plan before pubiic notification is
(A) 6 months
(B) | 12 months ‘
| (C) 18 m‘onths'ﬁ
B Y‘ 24 mbnths

(E) Answer not kndwn_

Qurg SifledlliyéE e wrevLiT S shdr L Liyial ST@ GUaDy CTEUGETE

- &meLd
(A) 6 wng@asc‘n
(B) : 12 LDFI'gI'&I&G';T:
(C) 18 LDrI‘g;I'EJGSG’ITb
D) 24 wrghser
(B) oL Qgrﬂu')@sié;m |

o o o 93 o .CECE/2022
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153. Echoes and formed due to the reﬂectlon of sound when the reﬂectlng- |
surfaces are situated at a dlstance'

(B)
©
D)
(E)

greater than 17 m
les‘s than 17 m
greather than 15 m
less than 15m

Answer not known

"-Lﬂuﬁuaﬂa;@m Gu)mum_lq - GTeNm @m'l_QaJaﬂuﬁlei) Di@WLWIL
UL g BEGLOLITE @6 eurtnded Yrdudvugre afArme o mardpg.

A

®)
©

D)
€0y

17 m g o9 DB sL0ME B psELGUNg

17 m g AL G@pauns QHEGSLEUNg

15 m g e ofawrs QméELCuTg
15m g oflL @‘a),mm.rraé B mEELeUTg
oL Gsfucivme . |

154. The mi_nimum size for the location of Gasoline Filling station is |

(A)

(©)
)
(B)

35 % 36.5m
30X 36.5m

30}>< 30 m
30 x40 m
Answer not known

QUL.GIJTTQ) ﬁuqu ﬁmmugﬁw @@ulﬁh_gﬁmesrrm @mmg,gul_& almsq

[N
®)

©)

)
(E)

- CECE/2022

35 x 36. 5 1L

30 X 36.5 15

30 x 30 8

30 X 40 8

e Qgflwelédrena -

94 o | » p



155. is the light weight scaffqlding used for repair works.

(A) Cantilever scaffblding |
“ (B) - Mason-’s séaffolding |
©) _St.eel s}(.:a‘ffoldin\g‘ |
| (Trestié scaff;)lding,‘

- (E) Answer not known

' u@gurrr'rés'@m Lenfl&@EpéE L u@@u@@guu@\m

2BGD-
A) Qper®s s
B _Qgsrr;g]m E

- (© @@Lbué\érrm.b
D) smEs sLE sty

(E) éﬂcm_ G]gnﬂu_laﬁilebmm

95

GPOHS T &ML .
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| 156. Say True or False for the fdllowing statements :

I

II.

A)

When fat lime mortar is to be uéed, bricks should be soaked in water

before use.

It 1s desirable to .-provide about 18 to 25 mmthick expansion joints

after every 30 to 45 m length of wall..

I is True and II is false

\a{ II is True and I is false

©

D)

®

Both are False |

Both are True

. Answer not known

- Qémaumd SahmISET FALT ADDF SUDT TS So)is.

I

11,

-V
B)

(©)

®)

(B)

Sl samemrmbys steorowl LwauGSs GCadThHbd aafld Qsusd@m®

SIFHS pe ﬁr’;rﬂa) ammmmg,ﬁ@asa; Gmam@m

a'fculﬂsvr @@JQ@JH@ 30 to 45 m ﬁmg;ﬁm@ulﬂm@ 18 aﬂ@pg 25 mm
§Iq.LD@16!TGT iflay - @aarriieousdheug a_a;pg,g] o ,

1A wppo I saup
I &l wpgid T sap
Qran(Guw sy |

- @ran@Guw o

aflerL Qg fwelldena

Ghoplose 0 % e



157. Match List I (Admixtures) with List IT (Chemicals) and select the correcf

answer : »
List I (Admixture) List II (Chemicals) |
- (a) Water-reducing admixture 1. Sulphonated melamine formaldehyde
(b) Air-entraining agents 2. Calcium chloride '
(0 Super plasticizer 3. Lignosulphonate
(d). Accelerator , o 4. Neutralised vinsol resin ,

@ O @ @
@A 2 4 1
® 1 3 4
© 3 4 2
&3 4 1

(E) Answer not known

N O~ N W
&

Guﬁ@ggas uigwe I (@r@seiiyser e Bgavian) Lligwd 1T ayer whmid
sflwrer el amw CaibosHése b :

| Cocgwe I i | utigwe II |

(@) B GoDsED G@WEllGsd ' 1. soCurGer Quaefér
. : - , ‘ - seLImTLDMTeVIgen @D (b

(b) asrHy 2 emetH Goweindadr 2. sreoflun GCameay®

©) @uui Qerrev qensar (Ba@@pelindsedr) 3.  dlsCanm goUCurGen
(d) '60(95555]836” : 4. sflslqu efersred Gpfler

@ B © @

@A 2 4 1 3
(B) 1 3 4 2
©C 3 4 2 1
3 4 1 2
(B) e Gsflucidama
P o : 97 'CECE/2022
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158.‘ The concrete in‘whic;h no prelifnihafy tests‘ aré 'pe‘rformeAd for"c‘lésig‘nin‘g
the mix 1s called U
(A) .Rich ‘convcrete :
(B) }CiontllrollvedAconcrete |
(C) Lean concrete

\J Ordinary concrete

(E) Answer not knbwn

shsreridar  some  aT@e  agewLILSHETET (s Cemgmenser

CQelwiuLTg sHerey @mmrrgl @{m%pés&.uu‘@@_,g].
(A) célgﬁas m%&mmudfm Sﬁ@T@ﬁl; B
(B) a;L@Du@égDuL; asrra:rreﬂﬁﬁ
: (C) | @JG\S]@)LDUJEQ a;rrsirreﬂﬁL
(D) &rrvg,rrr}émi}é;rrmﬁﬁl'_

(B) oo Qsflwelcvene

CECE/2022 98 b



156, Bulking of sand
1. is due to film of ‘Wéter éroupd sand particles
2. is due to capillary actionA |
3 is inore in finer sands

Which of the statements are correct?

(A) 1,2and 3

| \4 1and 3

(C) 2and 3
(D) 1land2

(E) Answer not known

DGRTeD Qu@é@gc‘b cremLg) clleneTeug)

1. wewed gsefen Lsg,,am Bir ul_cug',g,rrci)

2. g]G?fETL.]GDQ BQwéssgTD

3‘.  meir LDGITED g]HSGTTGSdT. Sifsb 2 arergmad @a’nm@mm@ﬁ‘)@m o sflwneng) ?

A) 1,2 wpmd 3

B) 1 wppo 3
© 2 uwpp 3
(D) 1 wpgd 2

(E) e Qsfwecrena

P | - 9 | ~ CECE/R022
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160. The fineness modulus of fine aggregate is 2.78 and of coarse aggregate is
7.82. The desired fineness modulus of mixed aggregation 6.14. What 1s
~ the percentage of fine aggregate to be mixed with coarse aggregate?

(A 40% : (B) 45%
7 50% . (D) 55%
(E) Answer not known | |
oeaed gisetseian pam@LsAs 2.78 wHYD Foals a#@aa@é;&;rrs&r g,jaiurlanmésQ&@

7.82 wemed glse1 — el swaeuudier EieTaRTT 6 MHLEW a;_r,g &rﬂ@ﬂﬁg;g,{é,]su LDGITED
gjasma;m 560613]&;5;ma;@|_m s&suL Geuam®Ib ?

(A 40% (B) 45%
©) 50% i (D) 55%
(B) oo Qsfweidene | |

161. The size of holes prov1ded by blasting in Quarry is done to get stones
' from hard rocks which are '

(A) 10 — 20 mm wide and 1 to'1.5 m deep

- (B) 20- 30 mm wide and 1.5 to 2. O m deep
@ 20 — 40 mm wide and 1.0 to 2.5 m deep
(D) 20- 50 mm wide and 1.5 to 2.5 m deep

(E) Answer not known

urepamer Qaly @eisE) g,a;rra;@'m CGungl Grg,g, ammmm S| GG e{mmgg Sl
&H&ETTS Qﬂg,@g@a;a;uu@é]mgj?

(A) 10-20 mm s wHgd 1 — 1.5 m <pb

B) 20- 30 mm s WHmILD 1.5t0 2.0 m ENT
©) 20- 40 mm ez womib 1.0 to 2.5 m oypid
D) 20 - 50 mm sisew wHpbd 1.5 to 2.5 m E
(E) fleoL Qg Mwelidvene

CECE/2022 100 P



~ 162. The Rankine’s formula for column is given by

Where, -

Q

P+

SIS IS TN

Crushing stress
~ C.S. area of the column
Rankine’s constant

EQuivalent length of the column

Least radius of gyration

® aa/ {“A’ILEH
5 .- alially]
© ooafli-albgl)

O e A/ { 1'_'a[%]'2}

~ (E) Answer not known

am srassrer Grendsar (Rankine’s) ggdiyo

=~  GpTmmEh s

- Gpemensen wmbled

—  &wwmrer Berbd

N R n o9

- B&fp sipHdl >

| -~ L7

B) O'C_-A/ {1/+a—:L/K } |

© o,-a/fi-4ll4] | y

o o -A/ { i a[%:I }

(E) e Qgflwaeldaa

—  grenflen @g}é;@ Qeul(® wriy

101
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- 163. The Euler’s buckling load for a column fixed at.one end and pinned_ at

the other end is — — , where
- ‘ET is the flexural rigidity and

- ‘L’ is the lenvgth of the column

o 0.57*EI S on2El
@ 2EE
© TE =

IE . _ _ 0.7L7

(E) - Answer not known

@ oanild siLiull g wpwoaudsd b sthEGmsyDd OsTar_ gred

i Gpefleucan — _ DD,
g.nmﬂdrmma@ alevpuiy ‘ET whmid |

g,nmﬂm Berd ‘L’ @b

27%El |

. 057°El o
W S5 ® G
| © ~’El | D) 7 EI

L? | | 0.7L%

(E) often Qg,fﬂmaﬂ-d)mm'

- CECE/2022 | B T p



164.

165.

166.

Muller — Breslau principle is based on ﬁhe‘ concept of the inﬂuence- line
as a cure :
W( deflection ' (B) slope ,
- (C) shear ' D) bendlng moment
(E) Answer not known :
~ @a)eorr—@@qcm@a)m Carium®  eremlgy, Gﬁlanerreqa; Gamig.er a;@ﬁr@@aﬁ]cﬁ
UENETENEUF FTTHGICTETS). : » '
A) Soss o (B) sflay
- (C)  puss B | (D) euener HmLian
(E) aflanL Qs fluaidama o ‘ . o
In a three — hinged arch of span L the bendlng moment caused by’
horizontal thrust, H at the hinge p01nt is equal to ‘
, HL/4 R (B) HL/2
- () HLE o (D)'HL/G |
- (E) Answer not known
‘T ﬁm@omm ppenm Seyiemer Gusmmafﬂsu aﬁlmnﬂmm @51@»& H Q&wwu@m@urr@gl
FghupL euemet(pLiLjew }
(A) HL/A4 P (B),HL/Z'
- () HL/8 S - (D) HL/6
- (B)  eler Gzfluaidame EE |
The horizontal thrust for semicircu»lar}twlo hinged arch due to rise of |
temperature is . | ,
(A) 2EI«T/zR* | ’{4EIO¢T/ER2_
(C) 4EIoT/xR* (D) 6EIT/nR?
(E) Answer not known\ " | o
Qmuuﬁmm 2 WiTQy SMTRDNs Qe uss STAIBEGSD De@ral L b GsTarr |
cuanemeilen LSSITL () 2 bEFMOE s@TEEL 2 Sajb &SI TD
(A) 2EIoT/R* | (B) 4EI«T /xR’
(C) AEI«T/R® (D) 6EI«T/xR®
(E) oo Qsflwueldme . | o
103 - CECE/2022
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: 167 . Rib shorfening in arches reduce
| ’(A) ~ bending moment
| L V{ horizont‘él thru;t
o | (C) normal thrust
D) ra_;iial shéaf

(E) Answer not known

auaeTeurer yenwli9é (arch) aﬁiwrr GHMOID 6TeTLIG) Grg,anan_é; @mpés@m
@) aw focuws
- (®) a@mg._ g,e&@m
(€) Q@@ﬁ@l seT@pELD
@) =9 myé@'v

(E) AeoL Gsflwelivens

CECE/2022 104



168 Which bf the: foyllonwi}ng‘ is correct?
(i) Consistent deformation is a forcé method :
f(ii) ‘Stiffness method is kann a‘s\equﬂibriﬁm me”chodi‘ |
k(iii) Theorem of fhree ,momé,nt is a displa’cemévnt méthod o '
o (i\}) }Sl'(v)pe deﬂectioh me-t.hOd is> a fol;;:e meth,oyd R
| | \-ﬂr (1) and (ii) are cori‘ect'
- (B) N}'(ii) and (iii) are correct
'(}C)‘ (iii)'and (iv) are correct
_(D) () and (iv)~are correct

(E) Answer not known

ae;lc.pasa;mm_mgz‘@m a,rg.,j sftunarg; ? ‘
) pee pilay, @ alas e
(i) Gﬂmmuut@imm, &Lﬁﬁwm’ vop aor sPUILEADS
(i) aperp Apouien Gappid 96 BLUGLLIEA e
- w) sflay aﬁ]@é;e’n @omm @@ s wen
@ Gusps @)
B) (i) wpgip (i) -
© o)
® QospoG)
(B oL Apfudiome

e S 105 S ~ CECE/2022
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169 Which of the followmg 1S not an anthropogemc cause of air pollutlon ’

@)

: (B).
- ©)

(B)

Burning of fossil fuels
Burning of firewood

Burhing of Agricultural wastes

- Burning of forests due to lightening |

Answer not k'nown '

o ﬂmm@mmmm@m &THy mn&unLq_msnm LDIT@JI_G)S]H_!GD a;rruaszrrmcnev

@
B

©

D)
®

'qmg, Uig.6 c;rrﬂ@urr@ancn Grrﬂg,g,w

@S]m@a;anen GTrﬂg,g,a) o
cfleusmuy a;veélmasmerr Grrﬂg,g,su
LIS'GOTGDTGI) STTGTLONG a;rr@asm GTIﬂQL_L.UlJ@giGD

aﬁ]am_ Qg,rﬂu_laﬁlmma) :

170 Which of the followmg is a way to reduce trafﬁc noise in hlghways

A)

Increasing speed of the vehicle

‘6{ Raising thick vegetation and tree growmg

©

(B

R1d1ng on the pavement

Horning in unnecessary time

Answer not known

, &epaasamn_m,m@a) Qp@@&nmmsaﬂm Gurras@mugsg,; @mu&&mm G@DE@D sugé]

A

®
(©

D)

,' ®

 CECE/2022

mrra;mrma;sfﬂm @masgmgs emL_@\g,a)

SLTHG g,m_mrsw;m mmgum LD 1) & 6IT mcﬁr’rﬂug,rmp
meunmguﬂw QUTEETEISHET @L@@Jg,rra) .

@05]5; Saib G ermed Gg,mmuﬂ]a)sorrg, G‘ggg,@m &g,g,m Grq.puqmg,rrso
aﬁ]am._ Qgrﬂu.naﬁ\mmw o
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C171.

172.

Oil and grease from the sewage 18 removed by
Skimming tanks (B) Screemng tank

- (C)  Sedimentation tanks (D) Detritus tanks

(E) Answer not known |
sflay ﬁﬂm @@pgj cremllenTls  HID mcm@cmu_x vesli@umbar ;S&@mg,ma;rrm

- SiewliLy |
(A) vl Qgm iy ser | (B) fé,]a)guﬂgcb Qg;rrl_Lq_

©) aarLp ugeus QT 1g86T ‘(D) 2 @mAummer Ggmig.ser
(E) efanL. Qsfweficdena ' ' o

-Corrosion of concrete sewer occurs due to

(A) High velocity. of sewage

(B) High pH value of sewage

(C) Aerobic decomposition of sewage solids
Anaerobic decomposition of sewage solids

(E) Answer not khown )

o sifla f,rr GWTLI SHSTE] gj@l.ﬁhq.gggev Grsm_@

A) a@as sfia|bir Hens Ga_lasg,grra)
(B) @ds pH wduy o drar sifla) Syre

(C) smpm 2 @ sifley Bi Hageaugred

D) smm 2 ysT sfeyfi Aozt

- (E) e Qsflweicvanaw

- 173.

For disinfecting water supply, it required to treat 5,00,000 litres of daily
supply with 0.5 ppm of chlorine. Calculate the dosage of chlorine

025 ~ (B) 0.50

.(C)075 | - D1

(E) Answer not known

B AfCurssHd Al Basn Cew, Searefl Qﬁlﬁ@mna;g,‘eﬁw 5,00,000 &L (5@

0.5 ppm &Germfen uumu@gg‘ﬂ &g,é,]a;fﬂuq G&wg,m) @C’émmﬂaﬂ (Sganeuuﬁlm SeTe|

@) 025 ‘ - (B) 050
© o075 O 1

(B) oo Qafuciioama

w7 . . CECE/2022
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174. Thé ﬂow velocity of sewer pipes should be designed so as to a(;hieve
" (A) Silting at the bottom |
(B) Scouring at the 1b»ottom
(C) Silting and scouring at the bottom
B ‘Zf Neither silting nor scouringfét thé bottom
(E) Answer not known
a;g@mﬁf'r @%Qnu'_xascrﬂé LMy Cémasu’j Epssermieuny Bmss Cauam(ib |
A) @QITU‘_IBSG;HGB'I' 2Aiqueh GUEITL 6 Lilg &6 CSerei) o
‘(4B) Gpruseiar siguld ofssd pLiiug Gume
C) @yerusaier oiguido ajafisrl_sb Lilg S6d m@gmafﬂg,gm BLULg Guey

D) Gwrnusalar oiquld eauaL® UigWwimogib, amgg,w (I]‘)L.SSGSFFLD@MLD Bruug
” Gumeb :

(E) e QzfNwellerene

175. A blow off valve is pr0v1ded in a water distribution system at

\(4( low pomts - (B) high points
(C) junction pomts , (D) intermediate

: (E) Answer not known:

ST aw it um&_@ @ommufﬂw Lg L uurer Lwearur®h Ceamaiu@eug
(A) STPHS qmaﬂasaﬂw ' - (B) &UJTT‘l‘_B‘QS Lerafsafled

©) spduy yerelsefer | - (D) @d}l_uul'_l_ L;Gimfﬂa;erﬂcb
(E) e Gsfluelives
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176.

177,

178.

For removal of temporary hardness of water
(A) Water is filtered |
W@ Water is boiled
(C) Water is to be chlorinated - -
(D)  Water is settled o | : ,
(E) Answer not known . o |
semertile) 2 arar sHaTNs s s sa@wMW BEGMLSNE
(A) sarateorr aigsl L Cauam@d
(B) sawateary Qardés meuss Gouam@id
(C) sanafmLan GCermfaa Coirée CouamELd
(D) sewateny @ﬁguqmm@g,m popew Gerup CS@J@SW@LD 7
(E) @S]am_ Az flwuaiidema .
From Ecologlcal considerations, the minimum level of dlssolved oxygen
_necessary in the rivers and streamis
@A) lmge (B) 2 mglc
W 4 mg/c ' (D) 8 mglc
- (E) Answer not known
G  sAT e.a;@pgg,ﬁ@o‘rl_l|s|r <0l LDQQJLD f}@nnmt_ufﬂco seHEIeTeT éy_,,aserﬁ]gsuﬂsm
 (GODBSULE DaTe) \
(A 1mgle : , '(B) 2 mg/c
(C) 4 mgle S (D) 8 mglc
(E) aﬁlml_ Qg,lﬂu_uaﬁlci)ma) ,
The pH of a solution contalmng 1. 70x10 g of hydrox1de per litre with
‘molecular weight of OH as 17 g is :
A 1 - | | » B) 2
© 3 s
(E) Answer not known ’ -
@m S LmsE L. 70x10 g GIDML_IJ'ITBSQDG{D@LD OH-@en  wpossmy —
17 g-pw> 2 et sereeder pH S
@ 1 o (B) 2
C© 3 o D) 5
(E) oo Qasflweiicvena
109 '  CECE/2022
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179. The self equilibrium - patterns of stresses that formed during
manufacturing and subsequent cooling, welding and ﬂame cutting a
steel section is called : :

(A) Informal stresses o (B) Thermal stresses |
Residual stresses (D) Stress concentration
(E) Answ.er- not known o | ‘ |

6T &QJULS]GD 2 s LD[DQJLD S| S6T Qg,m_rracﬁu_;rre; @@ﬂrr&eﬂu_umgg,co ummmmggm
wpDiId Fiped Qau i SIS, &L FLoBleaneuImed &@QJIT@LD g,sm;ma;@ :

A eluyp smsey _ - (B Qe sesey

©) assgasay (D) sasey Qedley
(E)  efler Qpflweficvana S

180. Identify the correct sequence, In wind load calculatlon of the members of
- atruss :

1. Windload -

2. - Basic wind speed

3.  Design wind pressure
4. Des1gn wind speed

A 1,2 3,4
B) 2,341
C) 4,231

& 2,4,3,1

(E) Answer not known

R ouener (i Je) 2 i ferlen 65ITjDQ_| FEOL  FHeTabHL1q.6 &rﬂu_lrrm aflesaw
 LWTaTD STemreyb » »

1. anpmy seow P

2. suuemL stpder Ceusd ¢ ‘
3. ageumwiy STHDPSSLD -
4. agemwbLiy snpBler Causid '
A 1,2,3,4 |

B 2,3,4,1

O 4231

D 2,4,3,1

(E)" e g,rﬂu_laﬂcuma)

- CECE/2022 » 110 o p



181

w015

The P01sson s ratio for prestressed concrete adopted in the calculations

will be -
(B) 0.30
(C) - 0.35 (D) 0.5

(E) Answer not known

| - pengmse| spHarepyuiley B a;asara;eﬂl_uu@mg,msrra; a@g,gjas Ga;rrmmuu@t.o

182.

- (© 035
(E) ofler QgsRweiidoers

A) %[Pt;zga +Ptl;)'2gb:l , (B) %[Ptag; ++}Zg-gb
o[ PaBa . Po-8 g P‘-g'
C 8| =taSa tb b] 8[ tada th " 8b
© 8| fuke B o ute Bt

umisrer f&sid (Poisson’s ratio) Greueueﬁsq? .
(A) 0.15 ~ (B) 0.30
(D) 0.5

If P, and P,, are prestressing force in short sp‘an and long spah
directions of the prestrenced two-way slab axb, g, and g, are the sag

~ of parabolic cable profile in short span and long span dlrectlons the

balancing load qb is given by

- 1[ P8,  Pugr ] 1[P.g, +Pug,]
A —| Ztaba th b:l B _l: tada ‘tb b
@ 3| e 2l ® 5 Tt
(6)) S[Ptaga +Ptbgbv:| | m[})taga +Ptbgb—

B a? o a? b2

| (E) Answer not knownA

o Qo pasese uossdar axb @la wrar wppd Serorar  Hosudd
gy QaratEpd arsmsa oflas Py, x B, eaes Qsneamnd, g, wopb g,
ereLg) GLepLwiren wHmitb BeTwmar @mauﬂ]w ureueerw euLgdlen Qgmie eraflé,
FoOLILRSHD Fawuller q, 6Ty

e QsNweildane

111 CECE/2022
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183. In the construction of prestressed concrete beams, the durability of
concrete is ensured by using the minimum cement content of -

(A) 200 to 250 kg/m3 of concrete
Y{- 300 to 360 kg/m3 of concrete
(C) 380 to 420 kg/m? of concrete

(D) 430 to 460 kg/m?® of concrete

(E) Answer not known

SpsarL. ahs GODHS UL Sl @{maﬁlmrro) WETSDESALL G SDSTE]T QS]L_l_
s oramiseie spsmamyuier By SSIDPEGD SaTanLo &gﬁuu@gguu@éﬂmg '

(A) 200 — 250 kg/m® o rar spsTay
(B) 300 — 360 kg/m® s arer sparany
(C) 380 — 420 kg/m® o arar as@amq
(D) 430 — 460 kg/m® o erar 5ﬂ)a;rras)|7
(E) ofen Qg,rﬂu_mﬁ]mma)

184. At simple supports or at point of zero moments the condltlon of
development length also to be satisfied is *

' 0.87
w{Ld>13M1+L | ®) Lp—ﬂ
, . 47bd ‘

(©) Ld>16¢o_ L DL

(E) Answer not known : :
Cereflw gTriflaar gD SdF ﬁ@qu@mm @Gucorrg, @umasaﬂgum Q@u@u@gg

Gsuasmq.u_l auaritg8l Bemd (development length)———— <y@0.
’ ' 0.87
@ r>¥M.r (B) L, > 287 ¢
' ' | 47pg
, _ L
© Ly>16¢ | © L%

| 3
| (E) AL Qg,rﬂu_loﬁld)ma) '

CECE/2022 oz N | 5



185. Effective width of én isolated T beam b‘f‘ is givenby
COnéider I ‘=: distance betwéen point of zero momeﬁt in beam;
b, = breadth of Web;
D= thickness vof flange;
b= aictual width of ﬂénge

S ' o ) o
A 2+b +6D B) 2~+b,+3D
(A) 6 w + oLy B 19 0w o

( I, +bw | o D) 0.5, +b,
b ‘ . b

| (E) Answer not known

| o saflewiur L T agear el Lsder UM@]Q{ Sis@ by’ ereug

I, =Lgder ysw Hmuydper Qameam Lerafaaficr @anLuld o drar Berib

b, =>’é|85lq.a'fr DiEDLD
Df' = aflaflb 96 Fig Loe

b = afaflibiQenr Quus ssew (actual width)

R . | L
(A) r +b,, +6D; -(B) 1o + b, +3Dy
© Te—+b, ®) 72e+8,
2 +4 o - 2 +4
b ' b
(E) oo Qsflweiidvena
113
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186. Maximum area of tension relnforcement and compressmn
- reinforcements in beam of 300 mm width and 500 mm overall depth is

(A) 6200 mm? o (B) 6100 mm2
(E) Answer not known ) o ‘ S A

300 .8 Siswapd 500 OIS @l_@@mrrg,g, %Q@pm o aLw AL sHlar
Quuyims eugiap HIb a;LmSﬂsan wHmid @mss Slevs eugz@bg(b\m s 9safl e

Siglsuls uglueTey

(A) 6200 A5 (B) 6100 15152

(© 6000882 (D) 5900 5152
(B)  efer Qsfluciioma SR

187. In the limit state design method  of concrete structures, the
recommended partial material safety factor (7m) for steel accordlng to

IS 456-2000is

A) 1.50
& 115
©) 1.00
D) 0.87

(E) Answer not known

IS 456- 2000 -GmLig QuIFLDLY ;F,]ana) Qg UENLDLIL| @mmuﬁla} eToudlir u@@ Glurr@en
&y smanf Ym

(A) 1.50
(B 115
€ 1.00
(D) 0.87

E) der Qg,lﬂu_laﬁlsbmé

CECE/2022 | . o 14 . P



188. In the des1gn of shear, If z,
' ~ shear strength of concrete match the following :

(a)
(b)
©
(d)

{GY

T, <T,
T, > 7T,

TV» > Te max

1 ,
T < C max

2 .
(a>’ ® ©
3 1 2

2 31

(©)

1 2 3

™3 2 1

. (E) Answer not known

(d)

N N

-

is nominal s‘hear stress and 7, is design

Redesign
»
Minimum shear reinforcement '

Design of shear reinforcement

Ideal design condition for solid slabs |

spaToTdd, BH&ES QJIQ.G)JGDLDDL{Q&’-U‘JU.]LD(SUIT@], Ty Guugerey pUIGS gas)é;sq
aafl® 7, auigeuenioliL] BHIsE euellend erafled, Spsaamicupearp QUTHSSS. o

(a)
(b)
©

@

A)
- ®

(o)

D)
(B)

Ty <7,

Ty > T,

Ty >1,

¢ max ‘

Ty < _'Tc max
2

@ ® ©

3 1 2
2 3 1
1 2 3
3 2 1

eflenL Qgflwelerene

2
- 3.

(d)

N L

Hoss aaimossd
. (G&DDDHS BOISHE UQIQpL L6
 BOIGEG UPIQHL LD Qe
S é{@é;@es@é;a;rrm é]‘r_r)‘r_'r)‘s suq.mmmuq

Hlenew

15 ~ CECEzo22
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'189. The ratio of total quantlty of water supplied to a crop durmg its base
period to the area is called : ,

(A)

Duty

G Delta

(©)
(D)

(E)

‘Consumptive use

Base depth

Answer not known

B0 LEBEES SIS SigiLLS sTEHD aPhsHLEL AwTss f;rﬂain g

(A)
(B)
©
D)
(E)

g U iig-

Qe

HI&T6y uu.na'srurr@
Sl LILIDL. YLD |
eflen Qzflwelicenc

190. When the canal and the stream meet each other practically at the same
level, a type of structure constructed are called as

@)
- ®
(©

Aqueduct
Super passage

Siphons

@f Level crossing

(E)

Answer not known

smoeaumujib (canal) f}@urrmLuu) (stream) @mgua;@asrrsvr@ me@mmuﬂw N
L LSSl &pé,]&@m Gurgl s L UL L S LUl GTETET eUansLILIHID ?

A)
(B)
©
(D)
(E)

CECE/2022

STOGUMILILITELD (Aqueduct)
@uur unGsg (Super passage)
ansliGurenger (Siphons)

GQeveued fymevdlr (Level croésing)

eflerL Qzflwefwena

116 - P



| 191

- 192.

The impermeable formation which contain water but are not capable of
transmitting and supplying significant quantlty of water is called as

(A) Confined Aquifer
(B) “Unconfined Aqulfer
(©C) Aqulfuge

W Aquiclude

(E) Answer not known

_ﬁmq Cslss  @auEGLD f}rr sflur  flossy ubhes SpssaTLeumm

Sim&sLLbEDg

A)  aerumssiurL s |

(B) auerupssiULTs Brsw

© ﬁﬁ mepwr wHmbd B QararatTiLBms
D) B aﬂL_nubu(b\ma; ' o
(E) &l Qsflueldena

The delta (V) for a crop havmg base perlod 120 days, water depth for one
irrigation is 12 cm, and successive irrigation interval of 12 days is

@A) 144cm | | |

(B) 100 cm | R S

> o 120 cm I | o S

(D) 130cm | |

(E) - Answer not known

e ulfler SgUULS sreb 120 BTL 6T, bs LulmeE unsagdler Gung
l_tiu@n garatfler werey 12 QFb. gaGeumm ursasdbEbd GeL Ll

@ Ceuefl 12 BrgeT. SiHS uuﬂl@a;@fﬂu_n Qu_cm_rr (V)

(A) 144 Qa8
(B) 100 Qa8
(C) 120 Q&8
(D) 130 Qa8

(E) ofen ngﬂmeﬁ]@mw :

117 o . CECE/2022
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193. The side slopes of a Cipolletti weir is
(A) 1 horizontal to 3 vertical
(B) 0.5 horizontal to 4 vertical
}(C) 0.5 horizontal to 5 Vertical_
1 horizontal to 4 vertical |
(E). Answer not known

‘ﬁ@un@@l'_lq;’_amwuﬂeh uésé;surrL@ FMiG GTeLIG)
Q) 1 8oLl g 3 Cprsess -

(B) 0.5 deLwiiLgde 4 VCS‘m‘r'réS@‘é,gu |

(C) o5 doLwi 806 5 CrisEssl

D) 1 HeLviipdoe 4 Coibess
(E) AerL GQgflweldamae '

194. If flood discharge ‘Q’ is in cumecs and Area of the catchment ‘A’ is in
sq.km., Ryve’s formula may be expressed as

| &) Q=CA™

(B) Q= CAss
Q = CA23
| }} D) Q= CA

(E) Answer ndt known

Qeuarer BiGUTEG ‘Q sar. LB/Q&a;mTLq.gmo BroQg iy u@ﬁuﬁ]sﬂ urtiueTay ‘A’ EHIT
HCeor B Agid @@gbgnm ®JeLED @g,‘é,lgg,mg, £%Qasasasm_6urrgu ET(PSHEOTLD

A) Q=CAm
(B) Q=CA%
(C) Q=CAz
(D) Q= CA

- (B) e Qg,rﬂu_laﬁlcomm

CECE/2022 . us p



195. Consumptive Irrigation RéQuirement (C.1.R) is estimated by
Where | | |
C = Consumptive use' o

= Effectlve ralnfall _

«(cm Cu—Re

(B) CIR=Cu+Re

(©)" CIR=x

o‘m:u , mbd

(D) CIR=

- (E) Answer not known
@éﬁm pruurser Ceemar Geuaurg 85GSDT8'5£L_CJ-LJ@§'LT)§]
@rGs | |
C, = maiey uu.ndrrurr@
R, = ‘LJUJ@]dTGT LDEOLD
(@ CIR=C.-R
~ (B) CIR=Cu+R.

o _c,
© o
©) CIR= e

(E) el Qs Mweildene

P v | 119 ~ CECE/?022
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196. The form‘ula, which is-most appropriate to the desijg_h of pressure pipes ig
(A) | Chezy’é formula
Yd( Darcy ngsbach fOrmﬁla
(C) Dupﬁit’s formulav
- (D) Manning’s formulé

(E) Answer not known "

SNYPSS GPmUsHT mqm@muﬂm@-@a;mm QuTmSSLDTET @gﬁrymn@g o
(A) | @mm@ @g,gm_ N ‘

B) cLaré Q%uuﬁ]du@ué; é‘é,ﬁqm

©  awlor ephm

(D) mmﬂm‘aﬁ @ggm

(E) e Qg,rﬂu.naﬁ]ycbma)

CECE/2022 g 120 S P



197. In order to over_éome the resistances and to cause the flow of water in a

O

~

chanhel',‘ its constructed with

K{ Bottom sloping towards the direction of flow

(B)

©)

®

- (B)

Bottom slopping pérpendicular to direction of flow
Bottom slopingbpposite the direction of flow

Zero sloping towards the direction of flow

Answer not known

| Gmaimq.u_lg
(Aj ép_u_gﬁar , 'é,lém&mu’G‘n_s'nézél &G’%p sMUGUTS
B) @L‘_l_gﬁpé Qe@@@gn& SBllg SSETLD érru'_l.mrra;
; (C) RUL SHla aﬁr‘rﬁm&ﬁ@_&@@ 5n@mn&
(D) FOOIET SieTeuns QUL SHer ﬁ@&mu_l Cprédl
aflenL Qg,nﬂmaﬁl@mm
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198. The Bernoulli’s equation is

_2 -
w AN BV g
P 28 pPe 28
L2 - 2
® BN g BN g
' P8 2 P8 2
: -2 . 2
(C) £+V;+gzl-_'—£2__+_‘/2_‘-+bgzz
- P8 28 pe8 28
& BV g B VL,
/g 28 P28 2 °

(E) Answer not knowh

QuirGarmadlulle mnujuurft;(a gaeruim(h Grei_@rrgj T (H5SI15 QamaraTemb?

' 2 2
(A) L5 &+Y2—+Z2
P 28 Py 28
xr2 ;2
(B) ;P_1+"_/1_.+gzl ;;‘PL_FH_._'_Zz
P~ 2 p28 2
' 2 : } 2
‘ (C) i+i+gzl=i+YL+gZ2
- nE 28 P8 28
, 2 2
D) .i+v—1-+Z1 =—£2—+VL+Z2
nE 28 P28 28

- (E) feL Qg,ﬂmaﬁ]e‘uméﬁ
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199

200.

Find the height of water column corresponding to a pressure of
- 98.1 KN/m?. Take specific Welght of water = 9.81KN/m3.

(A) 1m

@ 10m

(€C) 100m -

(D) 1000 m

(E) Answer not known

98.1 KN/m? aranm oipsssdpanar ller Hulli ﬁmwuﬁ]mm saTSE . ﬁ)rﬂm g,asr |
aeLeow 9.81 KN/m? aer a@ggla; Ga;rrmenmm , |

A) 18

(B) 108

(C 1008 | o |
@) 10008 o )

(E)  eer Qsflweiidvena

<1
(B) Equaltol

| (I:?"s law is valid so long as Reynold’s number is

() =21

}(D) Equal to 0

, (E) Answer not known

Lt efld Quu.larrrrcm_m) GT e élrpa;a;mn_amgu @@5@m Qurps Q&Q.)@_ILII.q.U.IIT@LD
@ <1

B 1

©) =21

D) o ~ -
(E) @S\mg@g,rﬂueﬁ\sbmm» s | . .
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You will be supphed with this question booklet 15 minutes prior to the commencement of the examination.

2. This question booklet contains 200 questions. Before answering the questions, you shall check whether

’ all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
any defect is noticed in the question booklet, it shall be reported to the invigilator within the
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3. Answer all the questions. All the. questions carry equal marks.
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8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.-
After the examination, yon must hand over yvour answer sheet to the invigilator. You are allowed to -
take the question booklet with vou only after the examination is over. V S
9. You should not make any marking in the question booklet except in the sheets before the
‘ last page of the questlon booklet, which can be used for rough work. This should be strictly
adhered to. : .
10. In all matters, the English version is final. .
11.. Failure to comply with any of the above instructions will render you liable for such action as the’
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